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[PART-A: GENERAL AWARENESS TEST] 
1. The phrase “Education is the creation of a sound mind in a sound body” is commonly  
  attributed to: 

(A) Plato  (B) Aristotle  (C) Socrates   (D) John Dewey 

2. What is the main objective of educational technology? 
(A)  To make learning more complex  
(B)  To replace teachers with technology 
(C)  To facilitate and enhance the learning process  
(D)  To reduce the need for human interaction in education  

3. “Informal Education” is best described as: 
(A)  Knowledge based on a set curriculum   
(B)  Structured learning in a classroom setting 
(C)  Education leading to a certificate or degree 
(D)  Learning that occurs outside of formal educational institutions 

4. Which gland secretes Bile useful in absorption of fats? 
(A) Liver     (B) Stomach     (C) Pancreas     (D) Heart 

5. A ‘fuse’ in an electric circuit is used to: 
(A)  fluctuate the flow of current  
(B)  decrease the flow of current in the circuit 
(C)  increase the flow of current in the circuit      
(D)  break the circuit when excessive current flows 

6. DNA is the hereditary material in humans and almost all other organisms. Here the full  
  form of ‘DNA’ is: 

(A) Die Acidity     (B) Drynitrogenic Atom   
(C) Deoxyribonucleic Acid    (D) Dyeoxnucleus Activities 

7. What is deforestation? 
(A) Planting Trees     (B) Growing Crops  
(C) Protecting Forests    (D) Cutting down Trees 

8. Which river is called “Bengal’s sorrow”? 
  (A) Yamuna  (B) Damodhar  (C) Narmada  (D) Tapti 

9. The “Jallianwala Bagh Massacre” occurred at:  
 (A) Delhi   (B) Lahore  (C) Kolkata  (D) Amritsar 

10. Which schedule of the Constitution of India deals with ‘languages’? 
(A) Sixth Schedule    (B) Eighth Schedule  
(C) Seventh Schedule    (D) Eleventh Schedule 

11. The process by which children learn the rules of grammar and sentence structure is   
  known as: 

(A) Syntax  (B) Phonetics  (C) Semantics  (D) Pragmatics 
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12. Which of the following is not a primary function of language? 
  (A) Communication    (B) Physical Movement 
  (C) Stating of Thoughts    (D) Expression of Identity 

13. Who among the following won the Nobel Prize in Literature? 
(A) C.V. Raman    (B) Amartya Sen 
(C) Kailash Satyarthi    (D) Rabindranath Tagore 

14. Which of the following is the work of Sri Aurobindo:  
(A) Geetanjali     (B) My Journey 
(C) Ekatma Manavvaad    (D) Savitri: A Legend and a Symbol 

15. Who among the following is ‘not’ famous Hindi writers? 
  (A) Vijay Rupani     (B) Mahadevi Verma 
  (C) Maithilisharan Gupt   (D) Ramdhari Singh Dinkar 

16. ‘Dancing Girl sculpture’ is a famous art piece found in which place? 
  (A) Mohenjo-Daro (B) Dholavira  (C) Harappa  (D) Lothal 

17. ‘Matki’ is a folk dance of:  
  (A) Uttar Pradesh  (B) Andhra Pradesh (C) Madhya Pradesh (D) Arunachal Pradesh 

18. Which ceremony is said to be followed for symbolising the transfer of power from British     
  to Indian hands in 1947? 

(A)  Handing over the Sengol sceptre  
(B)  Unfurling of Indian National Flag with Charkha 
(C)  Oath of the Prime Minister of Pakistan and Bangladesh 
(D)  Drawing of the Radcliffe Line between Pakistan and India 

19. Dhyan Chand Award is given for lifetime achievement in:  
(A) Music   (B) Sports   (C) Education       (D) Literature          

20. Deep Grace Ekka is associated with:  
  (A) Cricket   (B) Hockey   (C) Shooting       (D) Swimming 

21. ‘Technological Doping’ means:  
  (A)  Taking nutritional supplements 

(B)  Using performance-enhancing drugs  
  (C)  Participating in illegal betting by using gadgets   
  (D)  Gaining a competitive advantage by using sports equipment 

22. National e-Vidhan Application (NeVA) is developed under which Union Ministry? 
  (A)  Ministry of Defence 
  (B)  Ministry of Home Affairs 

(C)  Ministry of Parliamentary Affairs 
(D)  Ministry of Electronics and Information Technology 
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23. India’s first dedicated Vande Bharat Maintenance Depot is being built at: 
  (A) Jaipur   (B) Jodhpur  (C) Jabalpur  (D) Jamshedpur  

24. India has overtaken _________ to become the world’s fourth-largest economy. 
(A) Japan  (B) China  (C) Germany  (D) United States 

25. What is the full form of “FLN” under the National Education Policy (NEP) 2020? 
(A) Foundational Literary and Number (B) Functional Literacy and Nuances 
(C) Function Literary and Numeracy  (D) Foundational Literacy and Numeracy 

26. The acronym “CBCS” stands for: 
(A) Chat Basis Cream Star    (B) Cream Basin Chrome Style  
(C) Choice Based Credit System  (D) Chrome Barred Cream Structure 

27. Which of the following is/are true regarding ‘Academic Bank of Credits’? 
I.  It was envisioned in 1986 
II.  It enables Student Mobility 
III.  It endorses Academic flexibility 
IV.  It allows student to choose their own learning path 
(A) I, II and III (B) II, III and IV (C)  III, IV and I (D) I, II, III and IV 

28. Name the Director of National Council of Educational Research and Training (NCERT)? 
(A) Vineet Joshi    (B) M. Jagadesh Kumar 
(C) Dinesh Prasad Saklani   (D) Annapurna Devi Yadav 

29. Who is the Education Minister of India? 
(A) Smriti Irani    (B) Ramesh Pokhriyal 

  (C) Prakash Javadekar   (D) Dharmendra Pradhan  

30. The Chenab Rail Bridge is located at: 
  (A) Jammu and Kashmir    (B) Himachal Pradesh  
  (C) Uttarakhand    (D) Meghalaya  

[PART-B: TEACHING POTENTIAL] 
31. According to Dewey, education is a 
  (A) Social Need      (B) Personal Need  (C) Psychological Need  (D) Theoretical Need  

32. What is epistemology? 
(A) Theory of Knowledge   (B) Utility of Knowledge 
(C) Occurrence of Knowledge   (D) Source of Knowledge 

33. Kindergarten system lays emphasis?  
(A) on understanding the psychology of children  
(B) on physical training of the sense organs  
(C) on observation of the natural events   
(D) on the skill of reading and writing 
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34. Teaching should mainly be done by 
(A) skill and trained teachers   (B) untrained persons 
(C) experience teachers   (D) young talented individuals  

35. Who introduced for the first time free and compulsory primary education? 
  (A) Gopal Krishan Gokhale                            (B) M.K. Gandhi 
  (C) National Policy of Education 1968          (D) Primary Education Commission 

36. What is the new curricular structure according to National Education Policy 2020?  
(A) 3+4+4+5   (B) 5+3+3+4   (C) 4+3+3+5   (D) 5+4+3+3  

37. The highest level of cognitive domain is  
(A) Knowledge  (B) Evaluation  (C) Synthesis   (D) Comprehension  

38. PARAKH stands for 
(A) Performance Access, Review and Analysis of Knowledge for Holistic Development 
(B) Performance Assessment, Review and Analysis of Knowledge for Holistic Development 
(C) Programme Assessment, Review and Analysis of Knowledge for Holistic Development 
(D) Performance Assessment, Rate and Analysis of Knowledge for Holistic Development 

39. Continuous and comprehensive evaluation is 
(A) teacher centered    (B) student centered 
(C) assessment centered   (D) performance centered 

40. School level ETV programmes are produced by 
(A) CIET     (B) EICT  (C) CITE          (D) ETCE 

41. Television is an 
(A) Audio-visual medium                    (B) Audio medium                    
(C) Visual medium                               (D) None of these 

42. Which of the following radio broadcast service is run by IGNOU? 
(A) Gyanvani  (B) Akshvani  (C) Gyan Darshan (D) Gyan Dhara 

43. Educational rights of minorities are protected in Indian Constitution under the Article 
(A) 28    (B) 29    (C) 30    (D) 31 

44. Consider the following statement relating to new education policy committees 
I.    Justice Verma Committee 
II.  TSR Subramanian Committee  
III.  K Kasturirangan Committee  
IV.  Ramaswamy Committee 
Select the Correct answer code given below 
(A) I and II Only (B) I, III, IV Only (C) I, II, III and IV (D) II and III Only 

45. The Integral Education concept is propounded by 
(A) Sir Aurobindo  (B) Mahatma Gandhi (C) Swami Dayanand (D) Swami Vivekananda 
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46. The Calcutta Public Library was established largely at the initiative of 
(A) K. M. Asadullah (B) Lord Curzon (C) F. P. Strong (D) J. H. Stoqueler 

47. ‘DELNET’ stands for 
(A) Delhi Library Network   (B) Developing Library Network 
(C) Distance Library Network  (D) Digital Library Network 

48. Who is known as father of Indian Library System? 
(A) Dr. S. R. Ranganathan   (B) Dr. T. R. Maiyereshwaran 
(C) Dr. B. P. Goswami   (D) Dr. A. P. Patel 

49. MERUs stand for  
(A) Multidisciplinary Education and Research Universities  
(B) Multilingual Education and Research Universities 
(C) Multidisciplinary Education and Research Undertaking 
(D) Multistage Education and Research Universities 

50. The most important quality of a good teacher is 
(A) Sound knowledge of subject matter (B) Good communication skills 
(C) Concern for students welfare  (D) Effective leadership qualities 

51. The National Education Day is celebrated every year on 
(A) 2nd October         (B) 11th November   (C) 30th January (D) 31st March 

52. The concept of school complex was first executed in  
(A) Uttar Pradesh   (B) Punjab            (C) Bihar           (D) Rajasthan 

53. The concept of education as "purification of the mind and heart" was given by 
(A) Ramakrishna   (B) Socrates              (C) Tagore           (D) Gandhi 

54. Environmental educations should be taught in schools because 
(A) It will affect environmental pollution (B) It is important part of life 
(C) It will provide job to teachers  (D) We cannot escape from environment 

55. Which method is suitable for solving school problem faced by the teacher? 
(A) Action Research    (B) Survey Method 
(C) Historical Method                             (D) Descriptive Method 

56. To identify non-social children in your class, you as a teacher would apply 
(A) Aptitude test                                  (B) Socio-metric test  
(C) P. Q. test                                             (D) Achievement test 

57. Which one of the following is the best method of teaching? 
(A) Lecture Method      (B) Discussion Method 
(C) Demonstration Method   (D) Question-Answer Method  

58. When having a heterogeneous group to teach, teacher should follow 
(A) Lecture Method                                (B) Demonstration Method 
(C) Project Method                               (D) Lecture cum Demonstration Method 
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59. Who wrote the book ‘Mind, Self and Society’?  
(A) George Herbert Mead   (B) George Caspar Homans 
(C) Anthony Giddens    (D) Antanio Francesco Gramsci 

60. Who was the founder of Shantiniketan? 
(A) Rabindranath Tagore   (B) Manabendra Nath Rao 
(C) Raja Ram Mohan Rao   (D) Debendranath Tagore 

[PART-C: GENERAL MENTAL ABILITY TEST] 

61. What should be the number in place of blank in the following series? 
11, 13, 17, 19, 23, __, 31 
(A) 25   (B) 27   (C) 29   (D) 30 

62. What should be the number in place of blank in the following series? 
121, 144, 169, ___, 225, 256 
(A) 180  (B) 200  (C) 194  (D) 196  

63. What should be the number in place of blank in the following series? 
___, 154, 147, 136, 123, 106 
(A) 158  (B) 161  (C) 159  (D) 157 

64. Choose the different number in following options, 
(A) 729  (B) 512  (C) 1331  (D) 1724  

65. Choose the odd one option, 
(A) EKO  (B) JIU  (C) KVG  (D) QMJ 

66. Choose the odd one among following options, 
(A) Imphal  (B) Indore  (C) Itanagar  (D) Aizawl 

67. Find the correct option, 
India : New Delhi :: Belgium : ? 
(A) Antwerp  (B) Bruges  (C) Brussels  (D) Budapest 

68. Find the correct option, 
  Plant : Tree :: House : ? 

(A) Concrete  (B) Residence  (C) Home  (D) Building  

69. Find the correct option, 
ACE : DFH :: IKM : ? 
(A) LNQ  (B) LOP  (C) KNP  (D) LNP  

70. Select the most appropriate synonym of the word ‘distant’, 
(A) Futuristic  (B) Faraway  (C) Farsighted  (D) Forward 

71. Select the most appropriate antonym of the word ‘hospitality’, 
(A) Coldness  (B) Cordiality  (C) Wrathful  (D) Complaint 

72. Select the most appropriate synonym of the word ‘inherent’, 
  (A) Difference  (B) Latent  (C) Auxiliary  (D) Secondary 
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73. In a certain code language ‘LEMON’ coded as ‘ELMNO’, How will ‘DELHI’ be written  
  in that language? 

(A) DEHLI  (B) ELDIH  (C) DEHIL  (D) LIHED 

74. In a certain code language ‘DEF’ coded as ‘225’, How will ‘IJK’ be written in that  
  language? 

(A) 961  (B) 841  (C) 300  (D) 900 

75. In a certain code “FANTA” is written as “LGTZG”. How “CRICKET” is written in  
  that code? 

(A) IXOIQKZ  (B) IXOIPKZ  (C) JXOIQKZ  (D) IXOIQKY 

76. A is son of C while C and Q are the sisters to one another. Z is the mother of Q. If P is the  
  son of Z, Which one of the following statements is correct? 

(A) Q is the grandfather of A   (B) P is the cousin of A 
(C) Z is the brother of C   (D) P is the maternal uncle of A  

77. Introducing a lady, a man said, "Her mother is the only daughter of my mother-in-law."  
  What is the man to the lady? 

(A) Father  (B) Son  (C) Husband  (D) Brother 

78. Pointing to a photograph of a boy Joy said, "He is the son of the only son of my mother."  
  How is Joy related to that boy? 

(A) Uncle  (B) Father  (C) Brother  (D) Friend 

79. Statements:  No male teacher can play. Some male teachers are athletes. 
Conclusions: 

I. Females athletes can play. 
II. Some athletes can play. 

 (A) Only conclusion I follows  (B) Only conclusion II follows 
(C) Neither I nor II follows   (D) Either I or II follows 

80. Statements: All bags are cakes. All lamps are cakes. 
Conclusions: 

I. Some lamps are bags. 
II. No lamp is bag. 

(A) Only conclusion I follows  (B) Only conclusion II follows 
(C) Neither I nor II follows   (D) Either I or II follows 

81. Statements: All roads are waters. Some waters are boats. 
  Conclusions: 

I. Some boats are roads. 
    II. All waters are boats. 

(A) Only conclusion I follows  (B) Only conclusion II follows 
(C) Neither I nor II follows   (D) Either I or II follows 
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82. Class A has a higher enrollment than Class B. 
Class C has a lower enrollment than Class B. 
Class A has a lower enrollment than Class C. 
If the first two statements are true, the third statement is 
(A) True  (B) False  (C) Uncertain  (D) Neither True nor False 

83. A series is given with one term missing. Select the correct alternative from the given ones   
  that will complete the series.  

PRS, TWY, XBE, BGK,   ? 
(A) FLQ  (B) FLP  (C) FMQ  (D) ELQ 

84. Three of the following four words are alike in a certain way and one is different. Select  
  the odd one. 

(A) Goggles  (B) Spectacles  (C) Bifocals  (D) Optical Reader 

85. In the following question, select the related word pair from the given alternatives: 
  Tuberculosis : Lungs :: Typhoid : ? 

(A) Liver  (B) Lungs  (C) Intestine  (D) Ears 

86. A shopkeeper buys a toy for ₹200 and sells it for ₹250. What is his profit percentage? 
  (A) 50%  (B) 33.3%  (C) 25%  (D) 20% 

87. What is the simple interest on ₹1,000 at 5% per annum for 2 years? 
(A) 50   (B) 100  (C) 150  (D) 75 

88. What will be the compound interest on ₹1,000 for 2 years at 10% per annum,   
  compounded annually? 

(A) 200  (B) 210  (C) 220  (D) 195 

89. In a survey of 100 students: 60 like Mathematics, 50 like Science, 40 like English, 20 like  
  both Mathematics and Science, 15 like both Mathematics and English, 10 like both  
  Science and English, 5 like all three subjects. 
  How many students like only Mathematics? 

(A) 30   (B) 25   (C) 32   (D) 35 

90. Which activity saw the highest percentage increase in participation from 2023 to 2024 in  
  following table? 

Activity 2023 2024 
Debate 40 50 
Sports 60 75 
Music 30 45 
Art 20 30 
Drama 50 60 
(A) Drama  (B) Sports  (C) Debate  (D) Music 
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[PART-D: ENGLISH LANGUAGE PROFICIENCY (Compulsory for all candidates)] 

Directions for Question No. 91-100:  Fill-in the blanks with correct response option: 

91. She has been working in this office ___ five years. 
  (A) since  (B) from  (C) for   (D) during 
 

92. The bus was late, ___ we missed the first scene of the play. 
  (A) so   (B) or   (C) because  (D) although 
 

93. Neither the teacher nor the students ___ aware of the circular. 
  (A) is   (B) was  (C) are   (D) be 
 

94. He succeeded not because of luck ___ because of hard work. 
  (A) but   (B) and  (C) or   (D) for 
 

95. By this time tomorrow, they ___ their journey. 
  (A) will start  (B) have started (C) will have started (D) are starting 
 

96. The children ___ when the lights went out. 
  (A) played  (B) are playing (C) have been playing (D) were playing 
 

97. She is one of those authors who ___ a unique style. 
  (A) has   (B) have  (C) had  (D) was having 
 

98. He spoke in such a low voice that we could ___ hear him. 
  (A) always  (B) easily  (C) hardly  (D) loudly 
 

99. If I ___ you, I would not make such a mistake. 
  (A) was  (B) were  (C) am   (D) be 
 

100. Choose the correct option to complete the proverb: 
   “A stitch in time saves ___.” 
   (A) money  (B) nine  (C) trouble  (D) work 
 

Directions for Questions No. 101-105:  Choose the most appropriate response from the given options: 

101. Which of the following sentences correctly use the Present Perfect Continuous Tense? 
(A) He will have been working on the project tomorrow. 
(B) He has worked on the project since morning. 
(C) He had been working on the project for hours. 
(D) He has been working on the project since morning. 

102. Identify the sentence that contains a modal verb of obligation. 
(A)  You must wear a helmet while riding a bike. 
(B)  She might go to the market later. 
(C)  Can you swim? 
(D)  They would enjoy this movie. 
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103. Which of the following sentences contains an incorrect verb form? 
(A)  She laid the table before the guests arrived. 
(B)  The old man lay on the cot all day. 
(C)  Please lie the book on the shelf. 
(D)  I lay the books there yesterday. 

 

104. Identify the INCORRECT use of a pronoun. 
(A)  Each of the boys has done his homework. 
(B)  Someone has left one’s umbrella here. 
(C)  Neither Rani nor Reema brought her notebook. 
(D)  Everyone should bring their pen. 

 

105. Choose the correct sentence: 
(A)  The jury were divided in their opinions. 
(B)  The cattle is grazing in the field. 
(C)  Mathematics are my favourite subject. 
(D)  The news are surprising. 

 
Directions for Questions No. 106-110.  These items have parts that are underlined and labelled. 

Read each item carefully to identify the part (A), (B) or 

(C) that may have an error in it.  In case there is no error, 

mark your response as (D). 

106. Every student in the class (A) / were given a certificate (B) / for participation in the event(C). /   

   No Error (D)  

107. The team members (A) / have finished (B) / their respective task. (C) / No Error (D)          

108. Neither of the boys (A) / have submitted (B) / the final report (C). / No Error (D)       

109. The police has (A) / arrested the culprit (B) / after a long investigation. (C) / No Error (D)        

110. She is one of those writers (A) / who delivers (B) / brilliant lectures on feminism. (C)/            

  No Error (D) 

                                               
Directions for Question Nos. 111–115: Choose the most appropriate usage, meaning, or expression: 

111. Which of the following is the most appropriate use of "spill the beans"? 
   (A)  He spilled the beans all over the kitchen floor. 
   (B)  I had to spill the beans to get the stain out of my shirt. 
   (C)  Ravi accidentally spilled the beans about the surprise party. 
   (D)  She refused to spill the beans into the sink. 
 

112. ‘Hit the sack’ means: 
   (A) To destroy something in anger  (B) To go to sleep 
   (C) To win an argument   (D) To pack a suitcase quickly 
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113. The opposite of ‘burning the midnight oil’ is: 
   (A) working overtime    (B) studying regularly 
   (C) procrastinating all day   (D) relaxing during work hours 
 

114. ‘A blessing in disguise’ can be used in a situation where: 
   (A)  someone receives a gift in public 
   (B)  a bad event turns out to have a good outcome 
   (C)  a person pretends to be good but is actually bad 
   (D)  two friends exchange presents without knowing 
 

115. The most appropriate meaning of ‘jump the gun’ is: 
   (A) to act too soon without preparation (B) to win a race unexpectedly 
   (C) to follow someone’s orders quickly (D) to delay taking action purposefully 
 
Read the following paragraph carefully and answer Questions 116 to 120: 
In a quiet village nestled between the hills, lived an old clockmaker named Ravi. His shop, filled with 
the gentle ticking of timepieces, was a place of wonder for the villagers. Children would peer through 
the windows to watch him work, mesmerized by the gears and springs that he assembled with 
unmatched precision. Though many had offered to buy his clocks for large sums, Ravi never sold them. 
He believed time was not a thing to be bought or sold, but to be cherished and respected. When asked 
why he gave away his clocks freely to those in need, he would simply say, “Time, when given with 
kindness, is never wasted.” 
 

116. What is the most likely reason Ravi never sold his clocks? 
   (A)  He didn’t know how to price them 
   (B)  He didn’t think they were valuable 
   (C)  He believed time should not be commercialized 
   (D)  He wanted to become popular among villagers 
 

117. The word mesmerized in the passage means: 
   (A) confused  (B) fascinated  (C) frightened  (D) embarrassed 
 

118. The phrase ticking of timepieces refers to: 
   (A) ticking of bombs    (B) ticking of calendars 
   (C) ticking of clocks and watches  (D) ticking of mobile phones 
 

119. Which of the following best describes Ravi's character? 
   (A) Greedy and proud    (B) Secretive and strict 
   (C) Generous and thoughtful   (D) Lazy and careless 
 

120. The main message of the passage is: 
   (A) Time should only be gifted to rich people  
   (B) Technology has replaced traditional clocks 
   (C) Time given with kindness has lasting value 
   (D) Children should never waste time watching others 
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[PART-E: PUNJABI LANGUAGE PROFICIENCY] 

Compulsory for all those Candidates who have studied Punjabi in Matriculation 

121. ibzXo ns/ j[fFnkog[o ftu gzikph dh fejVh T[g-GkFk p'bh iKdh j?< 

(A) g'm'jkoh (B) d[nkph  (C) g[nkXh (D) wkMh 

122. gzikph GkFk ftu ;to-X[BhnK fezBhnK j[zdhnK jB< 

(A) 9 (B) 11 (C) 3 (D) 10 

123. r[ow[yh fbZgh ftu fijV/ nZyoK ~ g?oK ftu tofsnk ik ;edk j?, T[jBK ~ eh fejk iKdk j?< 

(A) ;to tkje (B) brkyo  (C) d[Zs nZyo (D) toB-wkbk 

124. j/m fbfynK ftZu'_ fejVk gVBKt dk fJe gqeko Bjh_ j?< 

(A) fBZitkue gVBKt (B) fBFu/tkue gVBKt 

(C) Gkttkue gVBKt (D) gqFBtkue gVBKt 

125. @bk# nr/so Bkb bZr e/ pfDnk ;jh Fpd u[D'L- 

(A) bkb  (B) bkitkp  (C) bkT[Dk (D) bkU 

126. fejVk Fpd @nkDh# fgS/so bZr e/ pfDnk j?L- 

(A) gkDh (B) pkDh (C) jkDh (D) ;/mkDh 

127. @g{oB mfjokn# bJh gzikph #u fe; ft;okw-fuzBQ dh tos'_ ehsh iKdh j?< 

(A) vzvh  (B) ft;we fuzBQ (C) fpzdh ekwk (D) ekwk  

128. j/m fbfynK ftZu'_ fejVk Fpd fgS/so br e/ Bjh_ pfDnk j?< 

(A) ;iktN  (B) fi;wkBh (C) BwehB (D) goT[geko  

129. j/m fbfynK ftZu'_ F[ZX Fpd dh u'D eo'L- 

(A) r?jDk (B) wk:k (C) d[gfjo (D) e'F; 

130. j/m fby/ FpdK ftZu' fejVk Fpd nF[ZX j?< 

(A) F?jo (B) gNtkoh  (C) tj[Nh (D) ;zs'y 

131. @eJh gZsDK dk gkDh ghsk j'Dk# w[jkto/ dk eh noE j?< 

(A) ubke j'Dk (B) oZfink j'Dk 

(C) w"s d/ B/V/ j'Dk (D) fsnko-po-fsnko j'Dk 

132. @i/eo e'Jh nkgDh tfvnkJh nkg jh eo/# sK fe; w[jkto/ dh tos'_ ehsh iKdh j?< 

(A) rbak Go nkT[Dk (B) nkgD/ wz{j'_ whnK fwzm{ pDBk 

(C) fJZe nZy Bkb t/yDk (D) nkg/ ckEVhJ/ s?~ e"D S[Vkt/ 

133. @nkgk tkoB bJh fsnko ofjDk# bJh fejVk w[jktok tofsnk iKdk j?< 

(A) jZE g?o wkoBk (B) fxU d/ dht/ pkbaDk 

(C) ;[Zy dh Bh_d ;"Dk (D) ikB sbh #s/ XoBk 

134. @d{finK d/ uzr/ ~ wkVk efjDk ns/ nkgD/ wkV/ ~ ;bkj[D# t/b/ fe; nykD dh tos'_ ehsh iKdh j?< 

(A) uzB uVQ/ r[ZM/ Bjh_ ofjzd/ (B) nkgDk Bh_ro, gokfJnk Yh_ro 

(C) S'Nk w{zj s/ tZvh pks (D) r"_ G[Bkt/ i"_ 

135. j/m fby/ nykD ~ ykbh EK Go e/ g{ok eo'L 
@@B"eoh eh s/HHHHHHHHHHHH eh## 

(A) xo  (B) tj[Nh (C) B]ok (D) sBykj  

136. @@e[Vh uoyk eZs ojh j?##, tke dk tuB pdb'. 

(A) e[VhnK uoyk eZs ojhnK jB. (B) e[Vh uoy/ eZs ojhnK jB. 

(C) e[VhnK uoyh eZs ojhnK jB. (D) e[VhnK uoy/ eZs ojhnK jB. 

137. fefonk-ftF/FD fezBh gqeko d/ j[zd/ jB< 

(A) 6 (B) 5 (C) 8 (D) 7 
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138. j/m fbfynK ftZu'_ fejVk @T[ZBsh# Fpd dk ;wkBkoEe Fpd Bjh_ j?< 

(A) T[gokbk  (B) gqrsh  (C) soZeh (D) ][Fjkbh 

139. @;zxDk# Fpd dk fto'Xh Fpd u[D'. 

(A) ftobk  (B) r{VQk (C) rfjok  (D) T[ikVk 

140. @fi; EK g?;/, o[gJ/ nkfd d/ f;Ze/ pDkJ/ iKd/ jB#, T[;~ eh fejk iKdk j?< 

(A) p?_e (B) yikBk (C) Ne;kb (D) Fkj{eko  

141. @gfsnj[ok# Fpd dk fJ;soh-fbzr Fpd u[D'L 

(A) gfsnj[oh  (B) gshj; (C) gfsnj[;  (D) gfsjoh  

142. j/m fbfynK ftZu'_ fejVk Fpd pj[tuBh o{g ftu tofsnk ik ;edk j?< 

(A) x'Vh (B) jkEh (C) wSbh  (D) p'bh 

143. j/mK fdZfsnK ftZu'_ ;jh fto'Xh i[ZN uD'L 

(A) T[Zuk-gZXok (B) Fohc-;[Eok (C) BtK-wkVk (D) ;XkoB-ftF/F 

144. j/m fbfynK ftZu'_ fejVk Fpd ;zpzXe Bjh_ j?< 

(A) ftZu (B) okjh_ (C) ns/ (D) dh 

145. j/m fbfynK ftZu'_ @pDso d/ nkXko #s/# tke dh fejVh fe;w Bjh_ j?< 

(A) gqFBtkue tke (B) fwFfos tke (C) ;z:[es tke (D) ;XkoB tke  

j/m fby/ g?oQ/ ~ gVQ e/ fJ; d/ nXko #s/ g[ZS/ rJ/ ;tkbK (146 - 150) d/ itkp fdUL- 

 :[ZX ns/ FKsh d[BhnK d/ ;G s'_ w[Zy ftfFnK ftZu'_ fJZe jB.  fJfsjk; rtkj j? fe id'_ th wBZ[ysk 
B/ :[ZX dk o;sk ngDkfJnk j?, spkjh ns/ popkdh B/ g?o g;ko/ jB.  izrK-:[ZXK B/ f;o\ d/FK dh 
G{r'be ;hwk jh Bjh_ pdbh, ;r'_ wB[Zyh ihtB, nkofEesk, ;ZfGnkuko ns/ ;wkfie YKu/ ~ th popkd 
ehsk j?.  gfjbk ns/ d{ik ftFt :[ZX fJ; dhnK ;G s'_ fGnkBe T[dkjoDK jB.  bZyK b'eK dh 
ikB rJh, eJh Ffjo wbhnkw/N j' rJ/ ns/ bZyK gfotko spkj j' rJ/.  d{i/ gk;/, FKsh wBZ[ysk d/ 
ftek; dk nN[ZN fjZ;k j?.  fiZE/ FKsh j[zdh j?, T[ZE/ ftek;, y[Fjkbh ns/ T[Zu/ nkdoF g?dk j[zd/ jB.  
FKsh d/ wkj"b ftZu ftfrnkB, seBhe, f;Zfynk ns/ nkofEesk fte;s j[zd/ jB.  ftneshrs ihtB 
ftZu th FKsh dk wjZst pj[s tZvk j?.  wB[Zy dh nzdo{Bh FKsh jh T[;dh y[Fh ns/ szdo[;sh dh 
e[zih j?.  ;z:[es okFNo ;z;Ek torhnK ;z;EktK d[BhnK ftZu FKsh pDkJh oZyD bJh brksko e'fFFK 
eo ojhnK jB.  fJ; eoe/, :[ZX s'_ pu e/, FKsh ~ nZr/ tXkT[Dk ;kvh ;G dh ;KMh f}zw/tkoh j?.  
f;Zfynk, ;ztkd ns/ ;fj:'r okjh_ n;h_ d[BhnK ~ :[ZX dh ftok;s s'_ w[es eoe/ FKswJh GftZy tZb 
b? ik ;ed/ jK.  

146. :[ZX dk ;G s'_ tZvk Bshik eh j[zdk j?< 

 (A) ftek; (B) spkjh  (C) y[Fjkbh (D) seBheh T[ZBsh 

147. d{i/ ftFt :[ZX B/ eh B[e;kB gj[zukfJnk< 
(A) ftd/Fh tgko tXkfJnk (B) Bt/_ Ffjo pDkJ/ 

(C) bZyK b'e wko/ rJ/ (D) f;Zfynk gqDkbh ~ w}p{s ehsk 

148. FKsh ftZu eh fte;s j[zdk j?< 
(A) p/o'}rkoh (B) ftfrnkB ns/ seBhe 

(C) ngokX (D) bVkJh 

149. ;z:[es okFNo ;z;Ek dk w[Zy T[d/F eh j?< 
(A) izr eotkT[Dk (B) ;ojZd tXkT[Dk 

(C) Bt/_ jfEnko pDkT[Dk (D) FKsh pDkJh oZyDk 

150. FKsh dh ;G s'_ tZvh b'V fe; bJh j?< 
(A) jfEnkoK bJh (B) okiBhsh bJh 

(C) wB[Zyh ftek; bJh (D) :[ZX dh fsnkoh bJh 
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 [PART-E: HINDI LANGUAGE PROFICIENCY] 

Compulsory for all those Candidates who have not studied Punjabi in Matriculation 

151. fgUnh Hkkjr dh ------------ Hkk"kk gS\ 

(A) jktHkk"kk (B) cztHkk"kk (C) jk"VªHkk"kk (D) dksbZ ugha 

152. ^chtd* fdldh jpuk gS\ 

(A) rqylhnkl  (B) dchjnkl  (C) lwjnkl  (D) lqanjnkl 

153. Hkk"kk ---------- gksrh gS\ 

(A) LFkkbZ (B) fuf'pr (C) ifjorZu’khy  (D) vifjorZu’khy 

154. Hkk"kk dh y?kqÙke bdkbZ gS% 

(A) okD; (B) /ofu (C) 'kCn (D) o.kZ 

155. poxZ /ofu;ka fdl oxZ esa vkrh gSa\ 

(A) rkyO; (B) daB; (C) naR; (D) vks"B; 

156. ^o* dk mPpkj.k LFkku gS% 

(A) daBks"B (B) narks"B (C) daBrkyO; (D) vks"B; 

157. iapek{kjksa dk LFkku gS% 

(A) vks"B  (B) rkyq  (C) ukd  (D) naR; 

158. ^Lokxr* dk foPNsn gksxk% 

(A) Lok$xr (B) Lo$vkxr (C) lq$xr (D) lq$vkxr 

159. ^vr,o* 'kCn esa dkSu lh laf/k gqbZ gS% 

(A) folxZ laf/k (B) v;kfn laf/k (C) xq.k laf/k (D) ;.k laf/k 

160. --------------- Loj ij cyk?kkr gksrk% 

(A) ewy  (B) nh?kZ (C) âLo (D) la;qä 

161. ^f=Hkqt* fdl lekl dk mnkgj.k gS% 

(A) vO;;hHkko (B) rRiq#"k (C) f}xq (D) deZ/kkj; 

162. dkSu lk 'kCn ;ksx:<+ gS% 

(A) xkS’kkyk (B) fo|ky; (C) ikB’kkyk (D) yacksnj  

163. dkSu lk 'kCn rRle gS% 

(A) xzke  (B) cksry  (C) vkx  (D) ikuh  

164. dkSu lk 'kCn Hkkookpd gS% 

(A) Øks/k (B) cq<+kik (C) xk; (D) nsoh  

165. ^T;ksRLuk* dk izfrykse 'kCn gS% 

(A) vT;ksRLuk (B) pafædk (C) rfeUlk (D) paæek  

166. dqy fdruh ;ksfu;k¡ ekuh xbZ gSa% 

(A) vLlh yk[k (B) pkSjklh djksM+ (C) pkSjklh gtkj (D) pkSjklh yk[k 

167. ^jke* v;ks/;k ls ou dks x,A bl okD; esa ^ls* fdl dkjd dk cks/kd gS% 

(A) viknku  (B) dj.k  (C) drkZ (D) deZ 
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168. loZukeksa dh dqy fdruh la[;k gS% 

(A) ckjg (B) X;kjg  (C) vkB (D) nl  

169. iq:"kokpd loZuke ds fdrus izdkj gksrs gSa% 

(A) lkr  (B) ik¡p  (C) rhu  (D) pkj  

170. ^tkuk* ls izsj.kkFkZd :i curk gS% 

(A) tkuuk  (B) tuokyk  (C) tukuk  (D) Hkstuk  

171. /kkrq esa ^uk* tksM+us ls D;k curk gS% 

(A) lkekU; fØ;k (B) ;kSfxd fØ;k  (C) vkKkFkZd fØ;k (D) fof/kokpd fØ;k 

172. ^rqe ogk¡ er tkvks* & ;g okD; fdldk mnkgj.k gS% 

(A) miokD;  (B) fuikr  (C) inca/k (D) la;qä okD; 

173. ^vkstLoh* dk foyksekFkhZ D;k gksxk% 

(A) fujfHkekuh  (B) rstLoh (C) fuLrst (D) ;’kLoh 

174. dks"Bd esa fn, x, fojke fpºu dks dgrs gSa ¼!½ 

(A) vYi fojke (B) ;kstd  (C) v)Z fojke (D) foLe;cks/kd  

175. fuEufyf[kr esa ls fdl eqgkojs dk vFkZ gS & lkQ bUdkj djukA 

(A) vaxwBk fn[kkuk (B) vxj&exj djuk (C) v¡/ksjxnhZ epkuk (D) vDy dk nq’eu 

fuEufyf[kr x|ka’k dks /;ku ls if<+, vkSj iz’u la[;k 176 ls 180 rd ds mÙkj nhft,& 

 eg¡xkbZ ;k ewY;òf) ls vkt leLr fo’o =Lr gSA  Hkkjr c<+rh eg¡xkbZ dh pisV esa cqjh rjg ls tdM+k gqvk gSA  
thouksi;ksxh oLrqvksa ds nke fnu&izfrfnu c<+rs tk jgs gSa ftuls tu lk/kkj.k dks vR;ar dfBukbZ dk lkeuk djuk iM+ jgk 
gSA  eg¡xkbZ ls ns’k ds vkfFkZd <k¡ps ij vR;f/kd ncko iM+ jgk gSA  eg¡xkbZ ds fueZe pj.k vuojr :i ls vxzlj gS( irk 
ugha os dc o dgk¡ #dsaxsA  vkt dksbZ Hkh oLrq cktkj esa lLrs nkeksa ij miyC/k ugha gS] lekt dk izR;sd oxZ eg¡xkbZ dh 

ekj dks vukgwr vfrfFk dh rjg lgu dj jgk gS] bldk loZxzkgh izHkko thou ds izR;sd {ks= ij iM+ jgk gSA  ljdkjh 
;kstukvksa ij vR;f/kd [kpZ gks jgk gSA  vius LokFkZ ds fy, yksxksa esa /kkfeZd] lkekftd rFkk uSfrd ekU;rk,¡ ihNs NwV tkrh 
gSa vkSj Hkz"Vkpkj dk cksyckyk gks tkrk gSA  vFkZ’kkL= dh ekU;rk gS fd ;fn fdlh oLrq dh ek¡x mRiknu ls vf/kd gks rks 
ewY;ksa esa LokHkkfod :i ls o`f) gks tkrh gSA 

176. vkt eg¡xkbZ ls dkSu nq[kh gS\ 

(A) m|ksxifr  (B) lkjk fo’o (C) usiky  (D) phu  

177. eg¡xkbZ ls ns’k dk dkSu&lk <k¡pk Mxexk jgk gS\ 

(A) vkfFkZd (B) lkekftd  (C) jktuSfrd (D) uSfrd 

178. vFkZ’kkL= ds vuqlkj eg¡xkbZ dk dkj.k gS% 

(A) ek¡x ls vf/kd mRiknu (B) /kkfeZd ekU;rk,a 

(C) mRiknu ls vf/kd ek¡x (D) jktuSfrd nokc  

179. ljdkjh ;kstukvksa ij [kpZ gks jgk gS% 

(A) cgqr FkksM+k (B) Bhd&Bkd (C) vR;f/kd (D) buesa ls dksbZ ugha  

180. bl x|ka’k dk mfpr 'kh"kZd gS% 

(A) Hkz"Vkpkj  (B) vFkZ’kkL= (C) tek[kksjh  (D) egaxkbZ 
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Hkkx&,% lkekU; tkx:drk  Gkr-J/L nkw ikro{esk 

1) ^^f'k{kk ,d LoLFk 'kjhj esa ,d LoLFk fnekx dk fuekZ.k gS** 
okD;ka'k dks vkerkSj ij ds fy, ftEesnkj Bgjk;k tkrk gS% 

 "ਿਸੱਿਖਆ ਇੱਕ ਤੰਦਰੁਸਤ ਸਰੀਰ ਿਵੱਚ ਇੱਕ ਤੰਦਰੁਸਤ ਮਨ ਦੀ ਿਸਰਜਣਾ ਹੈ" ਵਾਕੰ© 

ਲਈ ਆਮ ਤੌਰ 'ਤੇ wkBsk fdsh iKdh j?L 

(A) IysVks (B) vjLrw (A) ਪਲੈਟ ੋ (B) ਅਰਸਤ ੂ

(C) lqdjkr (D) t‚u Msoh (C) ਸੁਕਰਾਤ (D) ਜੌਨ ਿਡਊਈ 

2) 'kSf{kd çkS|ksfxdh dk eq[; mís'; D;k gS\  ਿਵਿਦਅਕ ਤਕਨਾਲੋਜੀ ਦਾ ਮੁੱ ਖ ਉਦ©ੇ ਕੀ ਹੈ? 

(A) vf/kxe dks vkSj vf/kd tfVy cukuk (A) ਅਿਧਗਮ ਨੰੂ ਹੋਰ ਗੁੰਝਲਦਾਰ ਬਣਾਉਣਾ  

(B) f'k{kdksa ds LFkku ij çkS|ksfxdh ykuk (B) ਅਿਧਆਪਕ� ਦੀ ਥ� ਤੇ ਤਕਨਾਲੋਜੀ ਲਾਉਣਾ 

(C) vf/kxe çfØ;k dks lqfo/kktud cukuk vkSj c<+kuk (C) ਅਿਧਗਮ ਪ�ਿਕਿਰਆ ਨੰੂ ਸੁਚਾਰੂ ਬਣਾਉਣਾ ਅਤੇ ਵਧਾਉਣਾ  

(D) f'k{kk esa ekuoh; ijLij izHkko dh vko';drk dks de 
djuk 

(D) ਿਸੱਿਖਆ ਿਵੱਚ ਮਨੱੁਖੀ ਪਰਸਪਰ ਪ�ਭਾਵ ਦੀ ਜ਼ਰੂਰਤ ਨੰੂ ਘਟਾਉਣਾ  

3) ^^vukSipkfjd f'k{kk** dk lcls vPNk o.kZu bl çdkj fd;k tk 
ldrk gS% 

 "ਗੈਰ-ਰਸਮੀ ਿਸੱਿਖਆ" ਨੰੂ ਇਸ ਤਰ�� ਸਭ ਤ� ਵਧੀਆ ਵਰਣਤ ਕੀਤਾ ਿਗਆ 

ਹੈ: 

(A) ,d fu/kkZfjr ikB;Øe ij vk/kkfjr Kku (A) ਇੱਕ ਿਨਰਧਾਰਤ ਪਾਠਕ�ਮ 'ਤੇ ਅਧਾਰਤ ਿਗਆਨ  

(B) d{kk lsfVax esa lajfpr f'k{kk (B) ਇੱਕ ਕਲਾਸਰੂਮ ਸਿੈਟੰਗ ਿਵੱਚ ਢ�ਚਾਗਤ ਿਸੱਿਖਆ 

(C) çek.k i= ;k fMxzh dh vksj ys tkus okyh f'k{kk (C) ਇੱਕ ਸਰਟੀਿਫਕੇਟ ਜ� ਿਡਗਰੀ ਵੱਲ ਲੈ ਜਾਣ ਵਾਲੀ ਿਸੱਿਖਆ 

(D) vkSipkfjd 'kS{kf.kd laLFkkuksa ds ckgj gksus okyh f'k{kk (D) ਰਸਮੀ ਿਵਿਦਅਕ ਸੰਸਥਾਵ� ਤ� ਬਾਹਰ j'D tkbh ਿਸੱਿਖਆ 

4) dkSu lh xzafFk olk ds vo'kks"k.k esa mi;ksxh fiÙk lzkfor djrh gS\  ਿਕਹੜੀ ਗ�ੰ ਥੀ ਚਰਬੀ ਨੰੂ ਸੋਖਣ ਿਵੱਚ ਉਪਯੋਗੀ ਿਪਤ ਨੰੂ fo;kT[_dh ਹੈ? 

(A) ;—r (B) vkek'k; (A) ਿਜਗਰ (B) ਪੇਟ 

(C) vXU;k'k; (D) ân; (C) ਪੈਨਕ�ੀਅਸ (D) ਿਦਲ 

5) fo|qr ifjiFk esa ^¶;wt* dk mi;ksx fuEu ds fy, fd;k tkrk gS%  ਇੱਕ ਇਲੈਕਿਟ�ਕ ਸਰਕਟ ਿਵੱਚ ਇੱਕ 'ਿਫਊਜ਼' ਦੀ ਵਰਤ� ਇਹਨ� ਲਈ 

ਕੀਤੀ ਜ�ਦੀ ਹੈ: 

(A) /kkjk ds çokg esa mrkj&p<+ko ykus ds fy, (A) ਕਰੰਟ ਦੇ ਪ�ਵਾਹ ਿਵੱਚ ਉਤਾਰ-ਚੜ�ਾਅ ਕਰਨ ਲਈ 

(B) ifjiFk esa /kkjk ds çokg dks de djus ds fy, (B) ਸਰਕਟ ਿਵੱਚ ਕਰੰਟ ਦੇ ਪ�ਵਾਹ ਨੰੂ ਘਟਾਉਣਾ ਲਈ  

(C) ifjiFk esa /kkjk ds çokg dks c<+kus ds fy, (C) ਸਰਕਟ ਿਵੱਚ ਕਰੰਟ ਦੇ ਪ�ਵਾਹ ਨੰੂ ਵਧਾਉਣ ਲਈ 

(D) vR;f/kd /kkjk çokfgr gksus ij ifjiFk dks rksM+us ds fy, (D) ਜਦ� ਬਹੁਤ ਿਜ਼ਆਦਾ ਕਰੰਟ ਵਗਦਾ ਹੈ ਤ� ਸਰਕਟ ਨੰੂ ਤੋੜਨ ਲਈ  

6) Mh-,u-,- euq";ksa vkSj yxHkx lHkh vU; thoksa esa oa'kkuqxr inkFkZ 
gSA ;gk¡ ^Mh-,u-,-* dk iw.kZ :i gS% 

 ਡੀ.ਐਨ.ਏ ਮਨੱੁਖ� ਅਤੇ ਲਗਭਗ ਸਾਰੇ ਹੋਰ ਜੀਵ� ਿਵੱਚ ਿਵਰਾਸਤੀ ਪਦਾਰਥ 

ਹੈ। ਇੱਥ ੇ'ਡੀ.ਐਨ.ਏ' ਦਾ ਪੂਰਾ ਰੂਪ ਹੈ: 

(A) Mkb ,flfMVh  (A) ਡਾਈ ਐਿਸਿਡਟੀ  

(B) MªkbukbVªkstsfud ijek.kq (B) ਡ�ਾਈਨਾਈਟਰੋਜਿਨਕ ਐਟਮ  

(C) Mhv‚DlhjkbcksU;wfDyd ,flM  (C) ਡੀਓਕਸੀਰਾਈਬਿੋਨਊਕਲੀਅਸ ਐਿਸਡ  

(D) Mkbv‚DlhU;wfDy;l xfrfof/k;k¡ (D) ਡਾਇਓਕਸਿਨਊਕਲੀਅਸ ਗਤੀਿਵਧੀਆ ਂ

7) ouksa dh dVkbZ D;k gS\  ਜੰਗਲ� ਦੀ ਕਟਾਈ ਕੀ ਹੈ? 

(A) isM+ yxkuk  (A) ਰੱੁਖ ਲਾਉਣਾ 

(B) Qly mxkuk (B) ਫਸਲ� ਉਗਾਉਣਾ 

(C) ouksa dh j{kk djuk  (C) ਜੰਗਲ� ਦੀ ਰੱਿਖਆ ਕਰਨਾ  

(D) isM+ksa dks dkVuk (D) ਰੱੁਖ� ਨੰੂ ਕੱਟਣਾ 

8) fdl unh dks ^^caxky dk nq%[k** dgk tkrk gS\  ਿਕਸ ਨਦੀ ਨੰੂ "ਬੰਗਾਲ ਦਾ ਦੁੱ ਖ" ਿਕਹਾ ਜ�ਦਾ ਹੈ? 

(A) ;equk (B) nkeksnj (A) ਯਮੁਨਾ (B) ਦਮੋਧਰ 

(C) ueZnk (D) rkIrh (C) ਨਰਮਦਾ (D) ਤਾਪਤੀ 
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9) ^^tfy;k¡okyk ckx gR;kdkaM** dgk¡ gqvk Fkk%  "ਜਿਲ�ਆਂਵਾਲਾ ਬਾਗ ਕਤਲੇਆਮ" ਿਕੱਥੇ ਵਾਪਿਰਆ: 

(A) fnYyh (B) ykgkSj (A) ਿਦੱਲੀ (B) ਲਾਹੌਰ 

(C) dksydkrk (D) ve`rlj (C) ਕੋਲਕਾਤਾ (D) ਅੰਿਮ�ਤਸਰ 

10) Hkkjrh; lafo/kku dh dkSu lh vuqlwph ^Hkk"kkvksa* ls lacaf/kr gS\  ਭਾਰਤੀ ਸੰਿਵਧਾਨ ਦੀ ਿਕਹੜੀ ਅਨੁਸਚੂੀ 'ਭਾ©ਾਵ�' ਨਾਲ ਸੰਬੰਿਧਤ ਹੈ? 

(A) NBh vuqlwph (B) vkBoha vuqlwph (A) ਛੇਵ� ਅਨੁਸਚੂੀ (B) ਅੱਠਵ� ਅਨੁਸੂਚੀ 

(C) lkroha vuqlwph (D) X;kjgoha vuqlwph (C) ਸੱਤਵ� ਅਨੁਸੂਚੀ (D) ਿਗਆਰ�ਵ� ਅਨੁਸਚੂੀ 

11) og çfØ;k ftlds }kjk cPps O;kdj.k vkSj okD; lajpuk ds 
fu;eksa dks lh[krs gSa ds :i esa tkuh tkrh gS% 

 ਉਹ ਪ�ਿਕਿਰਆ ਿਜਸ ਰਾਹ�  ਬੱਚ ੇਿਵਆਕਰਣ ਅਤੇ ਵਾਕ ਬਣਤਰ ਦ ੇਿਨਯਮ� 

ਨੰੂ ਿਸੱਖਦ ੇਹਨ ਵਜ� ਜਾਿਣਆ ਜ�ਦਾ ਹੈ: 

(A) okD; jpuk (B) /ofu foKku (A) tke ouBk (B) XtBh ftfrnkB 

(C) vFkZ foKku (D) O;ogkj foKku (C) noE ftfrnkB (D) noE fefonk ftfrnkB 

12) fuEufyf[kr esa ls dkSu lk Hkk"kk dk çkFkfed dk;Z ugha gS\  ਇਹਨ� ਿਵੱਚ� ਿਕਹੜਾ ਭਾ©ਾ ਦਾ ਮੁੱ ਖ ਕਾਰਜ ਨਹ� ਹੈ? 

(A) lapkj  (A) ਸੰਚਾਰ  

(B) 'kkjhfjd xfrfof/k (B) ਸਰੀਰਕ ਗਤੀ 

(C) fopkjksa dk dFku  (C) ਿਵਚਾਰ� ਦਾ ਿਬਆਨ  

(D) igpku dh vfHkO;fä (D) ਪਛਾਣ ਦਾ ਪ�ਗਟਾਵਾ 

13) fuEufyf[kr esa ls fdlus lkfgR; esa ukscsy iqjLdkj thrk\  ਇਹਨ� ਿਵੱਚ� ਿਕਸਨĂ  ਸਾਿਹਤ ਿਵੱਚ ਨĄ ਬਲ ਪੁਰਸਕਾਰ ਿਜੱਿਤਆ? 

(A) lh-oh- jeu (B) veR;Z lsu (A) ਸੀ.ਵੀ. ਰਮਨ (B) ਅਮਰਿਤਆ ਸਨੇ 

(C) dSyk'k lR;kFkhZ (D) johaæukFk VSxksj (C) ਕੈਲਾ© ਸਿਤਆਰਥੀ (D) ਰਿਬੰਦਰਨਾਥ ਟੈਗੋਰ 

14) fuEufyf[kr esa ls dkSulh Jh vjfcanks dh —fr gS%  ਇਹਨ� ਿਵੱਚ� ਿਕਹੜੀ ©�ੀ ਅਰਿਬੰਦੋ ਦੀ ਰਚਨਾ ਹੈ: 

(A) xhrkatfy  (A) Geetanjali 

(B) ekbZ tuhZ  (B) My Journey 

(C) ,dkRe ekuookn  (C) Ekatma Manavvaad  

(D) lkfo=h% , ystsaM ,aM , flacy  (D) Savitri: A Legend and a Symbol 

15) fuEufyf[kr esa ls dkSu çfl) fganh ys[kd ugha gSa\  ਇਹਨ� ਿਵੱਚ� ਕੌਣ ਪ�ਿਸੱਧ ਿਹੰਦੀ ਲੇਖਕ 'ਨਹ�' ਹੈ? 

(A) fot; :ik.kh (B) egknsoh oekZ (A) ਿਵਜੇ ਰੂਪਾਣੀ (B) ਮਹਾਦੇਵੀ ਵਰਮਾ 

(C) eSfFkyh'kj.k xqIr (D) jke/kkjh flag fnudj (C) ਮੈਿਥਲੀ©ਰਨ ਗੁਪਤ (D) ਰਾਮਧਾਰੀ ਿਸੰਘ ਿਦਨਕਰ 

16) ^Mkaflax xyZ ewfrZdyk* fdl LFkku ij ikbZ tkus okyh ,d çfl) 
dyk—fr gS\ 

 ‘Dancing Girl sculpture’ ਇੱਕ ਮ©ਹੂਰ ਕਲਾਿਕ�ਤੀ ਹੈ ਇਹ ਿਕਸ ਜਗ�ਾ 

'ਤੇ ਿਮਲਦੀ ਹੈ? 

(A) eksgutks&nkjks (B) /kksykohjk (A) ਮੋਹਨਜ-ੋਦਾਰੋ (B) ਧੋਲਾਵੀਰਾ 

(C) gM+Iik (D) yksFky (C) ਹੜੱਪਾ (D) ਲੋਥਲ 

17) ^eVdh* fdldk yksd u`R; gS%  'ਮਟਕੀ' ਿਕਹੜ ੇਰਾਜ ਦਾ ਇੱਕ ਲੋਕ ਨਾਚ ਹੈ: 

(A) mÙkj çns'k (B) vka/kz çns'k (A) �ਤਰ ਪ�ਦੇ© (B) ਆਂਧਰਾ ਪ�ਦ©ੇ 

(C) e/; çns'k (D) v#.kkpy çns'k (C) ਮੱਧ ਪ�ਦੇ© (D) ਅਰੁਣਾਚਲ ਪ�ਦੇ© 

18) 1947 esa fczfV'k ls Hkkjrh; gkFkksa esa lÙkk gLrkarj.k ds çrhd ds 
:i esa fdl lekjksg dk ikyu fd;k tkrk gS\ 

 1947 ਿਵੱਚ ਿਬ�ਿਟ© ਤ� ਭਾਰਤੀ ਹੱਥ� ਿਵੱਚ ਸੱਤਾ ਦੇ ਤਬਾਦਲੇ ਦੇ ਪ�ਤੀਕ 

ਵਜ� ਿਕਸ ਰਸਮ ਦੀ ਪਾਲਣਾ ਕੀਤੀ ਜ�ਦੀ ਹੈ? 

 (A) lsaxksy jktnaM lkSaiuk  (A) ਸ�ਗੋਲ ਰਾਜਦੰਡ ਸ�ਪਣਾ 

(B) pj[ks ds lkFk Hkkjrh; jk"Vªh; /ot Qgjkuk (B) ਚਰਖੇ ਨਾਲ ਭਾਰਤੀ ਰਾ©ਟਰੀ ਝੰਡਾ ਲਿਹਰਾਉਣਾ 

(C) ikfdLrku vkSj ckaXykns'k ds ç/kku ea=h dh 'kiFk (C) ਪਾਿਕਸਤਾਨ ਅਤੇ ਬੰਗਲਾਦੇ© ਦੇ ਪ�ਧਾਨ ਮੰਤਰੀ ਦੀ ਸਹੁੰ 

(D) ikfdLrku vkSj Hkkjr ds chp jsMfDyQ js[kk [khapuk (D) ਪਾਿਕਸਤਾਨ ਅਤੇ ਭਾਰਤ ਿਵਚਕਾਰ ਰੈ{ਡਕਿਲਫ ਲਾਈਨ ਦਾ 

ਿਚੱਤਰਣ 
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19) /;kupan iqjLdkj fuEufyf[kr esa vkthou miyfC/k ds fy, fn;k 
tkrk gS% 

 ਿਧਆਨ ਚੰਦ ਪੁਰਸਕਾਰ ਇਹਨ� ਿਵੱਚ ਜੀਵਨ ਭਰ ਪ�ਾਪਤੀ ਲਈ ਿਦੱਤਾ ਜ�ਦਾ 

ਹੈ: 

(A) laxhr (B) [ksy (A) ਸੰਗੀਤ (B) ਖੇਡ� 

(C) f'k{kk (D) lkfgR; (C) ਿਸੱਿਖਆ (D) ਸਾਿਹਤ 

20) nhi xzsl ,Ddk fdlls tqM+h gSa%  Deep Grace Ekka ਿਕਸ ਨਾਲ ਜੁੜੀ ਹੋਈ ਹੈ: 

(A) fØdsV (B) g‚dh (A) ਿਕ�ਕਟ (B) ਹਾਕੀ 

(C) 'kwfVax (D) rSjkdh (C) ©ੂਿਟੰਗ (D) ਤੈਰਾਕੀ 

21) ‘Technological Doping’ dk vFkZ gS%  ‘Technological Doping’ ਦਾ ਅਰਥ ਹੈ: 

(A) iks"kd rRoksa dh [kqjkd ysuk (A) ਪੌ©ਿਟਕ ਪੂਰਕ y[oke ਲੈਣਾ 

(B) çn'kZu c<+kus okyh nokvksa dk mi;ksx djuk (B) ਪ�ਦਰ©ਨ ਵਧਾਉਣ ਵਾਲੀਆਂ ਦਵਾਈਆਂ ਦੀ ਵਰਤ� 

(C) xStsV~l dk mi;ksx djds voS/k lêsckth esa Hkkx ysuk (C) ਗੈਜੇਟਸ ਦੀ ਵਰਤ� ਕਰਕੇ ਗੈਰ-ਕਾਨੰੂਨੀ ਸੱਟਬੇਾਜ਼ੀ ਿਵੱਚ ਿਹੱਸਾ 

ਲੈਣਾ 

(D) [ksy midj.k dk mi;ksx djds çfrLi/kkZRed ykHk çkIr 
djuk 

(D) ਖੇਡ ਉਪਕਰਣ� ਦੀ ਵਰਤ� ਕਰਕੇ ਪ�ਤੀਯਗੋੀ ਲਾਭ ਪ�ਾਪਤ ਕਰਨਾ 

22) jk"Vªh; bZ&fo/kku ,fIyds'ku ¼,u-bZ-oh-,½ fdl dsaæh; ea=ky; ds 
rgr fodflr fd;k x;k gS\ 

 ਰਾ©ਟਰੀ ਈ-ਿਵਧਾਨ ਐਪਲੀਕੇ©ਨ (NeVA) ਿਕਸ ਕ�ਦਰੀ ਮੰਤਰਾਲੇ ਦ ੇ

ਅਧੀਨ ਿਵਕਸਤ ਕੀਤੀ ਗਈ ਹੈ? 

(A) j{kk ea=ky; (A) ਰੱਿਖਆ ਮੰਤਰਾਲਾ 

(B) x`g ea=ky; (B) ਗ�ਿਹ ਮੰਤਰਾਲਾ 

(C) lalnh; ekeyksa dk ea=ky; (C) ਸੰਸਦੀ ਮਾਮਿਲਆਂ ਦਾ ਮੰਤਰਾਲਾ 

(D) bysDVª‚fuDl vkSj lwpuk çkS|ksfxdh ea=ky; (D) ਇਲੈਕਟ�ਾਿਨਕਸ ਅਤੇ ਸਚੂਨਾ ਤਕਨਾਲੋਜੀ ਮੰਤਰਾਲਾ 

23) Hkkjr dk igyk lefiZr oans Hkkjr j[kj[kko fMiks cuk;k tk jgk 
gS% 

 ਭਾਰਤ ਦਾ ਪਿਹਲਾ ਸਮਰਿਪਤ ਵੰਦ ੇਭਾਰਤ ਰੱਖ-ਰਖਾਅ ਿਡਪੂ ਇੱਥ ੇਬਣਾਇਆ 

ਜਾ ਿਰਹਾ ਹੈ: 

(A) t;iqj (B) tks/kiqj (A) ਜੈਪੁਰ (B) ਜੋਧਪੁਰ 

(C) tcyiqj (D) te'ksniqj (C) ਜਬਲਪੁਰ (D) ਜਮ©ੇਦਪੁਰ 

24) Hkkjr ------------ dks ihNs NksM+dj nqfu;k dh pkSFkh lcls cM+h 
vFkZO;oLFkk cu x;k gSA 

 ਭਾਰਤ _________ ਨੰੂ ਪਛਾੜ ਕੇ ਦੁਨੀਆ ਦੀ ਚਥੌੀ ਸਭ ਤ� ਵੱਡੀ 

ਅਰਥਿਵਵਸਥਾ ਬਣ ਗਈ ਹੈ। 

(A) tkiku (B) phu (A) ਜਪਾਨ (B) ਚੀਨ 

(C) teZuh (D) la;qä jkT; vesfjdk (C) ਜਰਮਨੀ (D) ਸੰਯੁਕਤ ਰਾਜ 

25) jk"Vªh; f'k{kk uhfr ¼,u-bZ-ih½ 2020 ds rgr ,Q-,y-,u dk 
iw.kZ :i D;k gS\ 

 ਰਾ©ਟਰੀ ਿਸੱਿਖਆ ਨੀਤੀ (NEP) 2020 ਦੇ ਤਿਹਤ “ਐਫ.ਐਲ.ਐਨ” ਦਾ 

ਪੂਰਾ ਰੂਪ ਕੀ ਹੈ? 

(A) vk/kkjHkwr lkfgR; vkSj vadxf.kr  (A) ਬੁਿਨਆਦੀ ਸਾਿਹਤਕ ਅਤੇ ਸੰਿਖਆ  

(B) dk;kZRed lk{kjrk vkSj ckjhfd;k¡ (B) ਕਾਰਜ©ੀਲ ਸਾਖਰਤਾ ਅਤੇ ਬਾਰੀਕੀਆ ਂ

(C) dk;kZRed lkfgR; vkSj vadxf.kr  (C) ਕਾਰਜ ਸਾਿਹਤਕ ਅਤੇ ਸੰਿਖਆ  

(D) vk/kkjHkwr lk{kjrk vkSj vadxf.kr (D) ਬੁਿਨਆਦੀ ਸਾਖਰਤਾ ਅਤੇ ਸੰਿਖਆ 

26) y?kq :i ‘CBCS’ dk vFkZ gS%  ਸੰਖੇਪ ਰੂਪ "CBCS" ਦਾ ਅਰਥ ਹੈ: 

(A) Chat Basis Cream Star (A) Chat Basis Cream Star 

(B) Cream Basin Chrome Style (B) Cream Basin Chrome Style 

(C) Choice Based Credit System (C) Choice Based Credit System 

(D) Chrome Barred Cream Structure (D) Chrome Barred Cream Structure 
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27) ^vdknfed cSad v‚Q ØsfMV* ds laca/k esa fuEufyf[kr esa ls dkSu 
lk@ls lR; gS@gSa\ 
1- bldh ifjdYiuk 1986 esa dh xbZ Fkh 
2- ;g Nk= xfr'khyrk dks l{ke cukrk gS 
3- ;g vdknfed yphysiu dk leFkZu djrk gS 
4- ;g Nk= dks viuk Lo;a dk lh[kus dk ekxZ pquus dh vuqefr  
   nsrk gS 

 'ਅਕਾਦਿਮਕ ਬ�ਕ ਆਫ਼ ਕ�ੈਿਡਟ' ਦੇ ਸੰਬੰਧ ਿਵੱਚ ਇਹਨ� ਿਵੱਚ� ਿਕਹੜਾ ਸੱਚ 

ਹੈ/ਹੈ? 

I.   ਇਸਦੀ ਕਲਪਨਾ 1986 ਿਵੱਚ ਕੀਤੀ ਗਈ ਸੀ 

II.  ਇਹ ਿਵਿਦਆਰਥੀ ਗਤੀ©ੀਲਤਾ ਨੰੂ ਸਮਰੱਥ ਬਣਾ�ਦਾ ਹੈ 

III. ਇਹ ਅਕਾਦਿਮਕ ਲਚਕਤਾ ਦਾ ਸਮਰਥਨ ਕਰਦਾ ਹੈ 

IV. ਇਹ ਿਵਿਦਆਰਥੀ ਨੰੂ ਆਪਣਾ ਿਸੱਖਣ ਮਾਰਗ ਚੁਣਨ ਦੀ ਆਿਗਆ  

     ਿਦੰਦਾ ਹੈ 

(A) 1] 2 vkSj 3 (B) 2] 3 vkSj 4 (A) I, II ਅਤੇ III (B) II, III ਅਤੇ IV 

(C) 3] 4 vkSj 1 (D) 1] 2] 3 vkSj 4 (C) III, IV ਅਤੇ I (D) I, II, III ਅਤੇ IV 

28) jk"Vªh; 'kSf{kd 'kks/k vkSj çf'k{k.k ifj"kn ¼,u-lh-bZ-vkj-Vh½ ds 
funs'kd dk uke D;k gS\ 

 ਰਾ©ਟਰੀ ਿਸੱਿਖਆ ਖੋਜ ਅਤ ੇ ਿਸਖਲਾਈ ਪ�ੀ©ਦ (NCERT) ਦੇ ਿਨਰਦੇ©ਕ ਦਾ ਨ� 

ਕੀ ਹੈ? 

(A) fouhr tks'kh (B) ,e- txnh'k dqekj (A) ਿਵਨੀਤ ਜ©ੋੀ (B) ਐਮ. ਜਗਦ©ੇ ਕੁਮਾਰ 

(C) fnus'k çlkn ldykuh (D) vUuiw.kkZ nsoh ;kno (C) ਿਦਨĂ © ਪ�ਸਾਦ ਸਕਲਾਨੀ (D) ਅੰਨਪੂਰਨਾ ਦੇਵੀ ਯਾਦਵ 

29) Hkkjr ds f'k{kk ea=h dkSu gSa\  ਭਾਰਤ ਦੇ ਿਸੱਿਖਆ ਮੰਤਰੀ ਕੌਣ ਹਨ? 

(A) Lèfr bZjkuh (B) jes'k iks[kfj;ky (A) ਸਿਮ�ਤੀ ਇਰਾਨੀ (B) ਰਮੇ© ਪੋਖਿਰਆਲ 

(C) çdk'k tkoM+sdj (D) /kesaZæ ç/kku (C) ਪ�ਕਾ© ਜਾਵੜੇਕਰ (D) ਧਰਿਮੰਦਰ ਪ�ਧਾਨ 

30) fpukc jsy fczt fLFkr gS%  ਚਨਾਬ ਰੇਲ ਪੁਲ ਇੱਥ ੇਸਿਥਤ ਹੈ: 

(A) tEew vkSj d'ehj (B) fgekpy çns'k (A) ਜੰਮੂ ਅਤੇ ਕ©ਮੀਰ (B) ਿਹਮਾਚਲ ਪ�ਦੇ© 

(C) mÙkjk[kaM (D) es?kky; (C) �ਤਰਾਖੰਡ (D) ਮੇਘਾਿਲਆ 

Hkkx&ch% f'k{k.k {kerk@;ksX;rk  Gkr-phL nfXrw :'rsk 

31) Msoh ds vuqlkj] f'k{kk ,d gS  ਡੇਵੀ ਦੇ ਅਨੁਸਾਰ, ਿਸੱਿਖਆ ਇੱਕ ਹੈ 

(A) lkekftd vko';drk (B) O;fäxr vko';drk (A) ਸਮਾਿਜਕ ਲੋੜ (B) ਿਨ{ਜੀ ਲੋੜ 

(C) euksoSKkfud vko';drk (D) lS)kafrd vko';drk (C) ਮਨĄ ਿਵਿਗਆਨਕ ਲੋੜ (D) ਿਸਧ�ਤਕ ਲੋੜ 

32) Kkuehekalk D;k gS\  ਿਗਆਨ ਿਵਿਗਆਨ ਕੀ ਹੈ? 

(A) Kku dk fl)kar (B) Kku dh mi;ksfxrk (A) ਿਗਆਨ ਦਾ ਿਸਧ�ਤ (B) ਿਗਆਨ ਦੀ ਉਪਯੋਗਤਾ 

(C) Kku dh ?kVuk (D) Kku dk lzksr (C) ਿਗਆਨ ਦੀ ਘਟਨਾ (D) ਿਗਆਨ ਦਾ ਸਰੋਤ 

33) fdaMjxkVZu ç.kkyh fdl ij tksj nsrh gS\  ਿਕੰਡਰਗਾਰਟਨ ਪ�ਣਾਲੀ ਜ਼ੋਰ ਿਦੰਦੀ ਹੈ? 

(A) cPpksa ds euksfoKku dks le>us ij (A) ਬੱਿਚਆਂ ਦੇ ਮਨĄ ਿਵਿਗਆਨ ਨੰੂ ਸਮਝਣ 'ਤੇ 

(B) bafæ;ksa ds 'kkjhfjd çf'k{k.k ij (B) ਿਗਆਨ ਇੰਦਰੀਆਂ ਦੀ ਸਰੀਰਕ ਿਸਖਲਾਈ 'ਤ ੇ

(C) çk—frd ?kVukvksa ds voyksdu ij (C) ਕੁਦਰਤੀ ਘਟਨਾਵ� ਦੇ ਿਨਰੀਖਣ 'ਤ ੇ

(D) i<+us vkSj fy[kus ds dkS'ky ij (D) ਪੜ�ਨ ਅਤੇ ਿਲਖਣ ਦੇ ਹੁਨਰ 'ਤ ੇ

34) f'k{k.k] eq[; :i ls fn;k tkuk pkfg,%  ਿਸੱਿਖਆ ਮੁੱ ਖ ਤੌਰ 'ਤੇ ਵੱਲ� ਿਦਤੀ ਜਾਣੀ ਚਾਹੀਦੀ ਹੈ 

(A) dq'ky vkSj çf'kf{kr f'k{kdksa }kjk  (A) ਹੁਨਰ ਅਤੇ ਿਸਖਲਾਈ ਪ�ਾਪਤ ਅਿਧਆਪਕ� ਵੱਲ� 

(B) vçf'kf{kr O;fä;ksa }kjk (B) ਗੈਰ-ਿਸਿਖਅਤ ਿਵਅਕਤੀਆਂ ਵੱਲ� 

(C) vuqHkoh f'k{kdksa }kjk  (C) ਤਜਰਬੇਕਾਰ ਅਿਧਆਪਕ� ਵੱਲ� 

(D) ;qok çfrHkk'kkyh O;fä;ksa }kjk (D) ਨੌਜਵਾਨ ਪ�ਿਤਭਾ©ਾਲੀ ਿਵਅਕਤੀਆਂ ਵੱਲ� 

35) igyh ckj eq¶r vkSj vfuok;Z çkFkfed f'k{kk fdlus 'kq: dh\  ਪਿਹਲੀ ਵਾਰ ਮੁਫ਼ਤ ਅਤੇ ਲਾਜ਼ਮੀ ਪ�ਾਇਮਰੀ ਿਸੱਿਖਆ ਿਕਸਨĂ  ©ੁਰੂ ਕੀਤੀ? 

(A) xksiky —".k xks[kys  (A) ਗੋਪਾਲ ਿਕ�©ਨ ਗੋਖਲੇ  

(B) ,e-ds- xka/kh (B) ਐਮ.ਕੇ. ਗ�ਧੀ 

(C) jk"Vªh; f'k{kk uhfr 1968  (C) ਰਾ©ਟਰੀ ਿਸੱਿਖਆ ਨੀਤੀ 1968  

(D) çkFkfed f'k{kk vk;ksx (D) ਪ�ਾਇਮਰੀ ਿਸੱਿਖਆ ਕਿਮ©ਨ 
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36) jk"Vªh; f'k{kk uhfr 2020 ds vuqlkj ubZ ikB~;Øe lajpuk D;k 
gS\ 

 ਰਾ©ਟਰੀ ਿਸੱਿਖਆ ਨੀਤੀ 2020 ਦੇ ਅਨੁਸਾਰ ਨਵ� ਪਾਠਕ�ਮ ਢ�ਚਾ ਕੀ ਹੈ? 

(A) 3$4$4$5 (B) 5$3$3$4 (A) 3+4+4+5 (B) 5+3+3+4 

(C) 4$3$3$5 (D) 5$4$3$3 (C) 4+3+3+5 (D) 5+4+3+3 

37) laKkukRed {ks= dk mPpre Lrj gS%  ਬੋਧਾਤਮਕ ਖੇਤਰ ਦਾ ਸਭ ਤ� �ਚਾ ਪੱਧਰ ਹੈ: 

(A) Kku (B) ewY;kadu (A) ਿਗਆਨ (B) ਮੁਲ�ਕਣ 

(C) la'ys"k.k (D) cks/k (C) ਸੰਸਲੇ©ਣ (D) ਸਮਝ 

38) PARAKH dk vFkZ gS%  PARAKH ਦਾ ਅਰਥ ਹੈ: 

(A) Performance Access, Review and Analysis of 
Knowledge for Holistic Development 

(A) Performance Access, Review and Analysis of 
Knowledge for Holistic Development 

(B) Performance Assessment, Review and Analysis of 
Knowledge for Holistic Development 

(B) Performance Assessment, Review and Analysis of 
Knowledge for Holistic Development 

(C) Programme Assessment, Review and Analysis of 
Knowledge for Holistic Development 

(C) Programme Assessment, Review and Analysis of 
Knowledge for Holistic Development 

(D) Performance Assessment, Rate and Analysis of 
Knowledge for Holistic Development 

(D) Performance Assessment, Rate and Analysis of 
Knowledge for Holistic Development 

39) lrr vkSj O;kid ewY;kadu gS%  ਿਨਰੰਤਰ ਅਤੇ ਿਵਆਪਕ ਮੁਲ�ਕਣ ਹੈ: 

(A) f'k{kd dsafær (B) Nk= dsafær (A) ਅਿਧਆਪਕ ਕ�ਿਦ�ਤ (B) ਿਵਿਦਆਰਥੀ ਕ�ਿਦ�ਤ 

(C) ewY;kadu dsafær (D) çn'kZu dsafær (C) ਮੁਲ�ਕਣ ਕ�ਿਦ�ਤ (D) ਪ�ਦਰ©ਨ ਕ�ਿਦ�ਤ 

40) Ldwy Lrj ds bZ-Vh-oh- dk;ZØe fdlds }kjk fufeZr fd, tkrs gSa  ਸਕੂਲ ਪੱਧਰ ਦੇ ਈ.ਟੀ.ਵੀ ਪ�ੋਗਰਾਮ� ਦਾ ਿਨਰਮਾਣ ਵੱਲ� ਕੀਤਾ ਜ�ਦਾ ਹੈ 

(A) CIET (B) EICT (A) CIET (B) EICT 

(C) CITE (D) ETCE (C) CITE (D) ETCE 

41) Vsyhfotu ,d gS%  ਟੈਲੀਿਵਜ਼ਨ ਹੈ ਇੱਕ: 

(A) –';&JO; ek/;e (A) ਆਡੀਓ-ਿਵਜ਼ਅੂਲ ਮਾਿਧਅਮ  

(B) JO; ek/;e (B) ਆਡੀਓ ਮਾਿਧਅਮ 

(C) –'; ek/;e (C) ਿਵਜ਼ਅੂਲ ਮਾਿਧਅਮ  

(D) buesa ls dksbZ ugha (D) ਇਹਨ� ਿਵੱਚ� ਕੋਈ ਨਹ� 

42) fuEufyf[kr esa ls dkSu lh jsfM;ks çlkj.k lsok bXuw (IGNOU) 

}kjk lapkfyr dh tkrh gS\ 
 ਇਹਨ� ਿਵੱਚ� ਿਕਹੜੀ ਰੇਡੀਓ ਪ�ਸਾਰਣ ਸੇਵਾ ਆਈ.ਜੀ.ਐਨ.ਓ.ਯੂ.ਵੱਲ�  ਚਲਾਈ 

ਜ�ਦੀ ਹੈ? 

(A) Kkuok.kh (B) vkdk'kok.kh (A) ਿਗਆਨਵਾਨੀ (B) ਅਕ©ਵਾਨੀ 

(C) Kku n'kZu (D) Kku /kkjk (C) ਿਗਆਨ ਦਰ©ਨ (D) ਿਗਆਨ ਧਾਰਾ 

43) Hkkjrh; lafo/kku esa vYila[;dksa ds 'kSf{kd vf/kdkjksa dks vuqPNsn 
ds rgr lajf{kr fd;k x;k gS% 

 ਭਾਰਤੀ ਸੰਿਵਧਾਨ ਿਵੱਚ ਘੱਟ ਿਗਣਤੀਆ ਂਦੇ ਿਵਿਦਅਕ ਅਿਧਕਾਰ ਅਨੁਛਦੇ ਦ ੇ

ਤਿਹਤ ਸੁਰੱਿਖਅਤ ਹਨ। 

(A) 28 (B) 29 (A) 28 (B) 29 

(C) 30 (D) 31 (C) 30 (D) 31 

44) ubZ f'k{kk uhfr lfefr;ksa ls lacaf/kr fuEufyf[kr dFku ij fopkj 
dhft,%& 
1- U;k;ewfrZ oekZ lfefr 
2- Vh,lvkj lqcze.;e lfefr 
3- ds dLrwjhjaxu lfefr 
4- jkekLokeh lfefr 
 
fn, x, lgh mÙkj dksM dk p;u dhft, 

 ਨਵ� ਿਸੱਿਖਆ ਨੀਤੀ ਕਮੇਟੀਆ ਂਨਾਲ ਸਬੰਧਤ ਹੇਠ ਿਲਖੇ ਕਥਨ 'ਤੇ ਿਵਚਾਰ ਕਰੋ: 
 

I.   ਜਸਿਟਸ ਵਰਮਾ ਕਮੇਟੀ 

II.  ਟੀਐਸਆਰ ਸਬੁਰਾਮਨੀਅਮ ਕਮੇਟੀ 

III. ਕੇ ਕਸਤੂਰੀਰੰਗਨ ਕਮੇਟੀ 

IV.  ਰਾਮਾਸਵਾਮੀ ਕਮੇਟੀ 
 

ਿਦੱਤ ੇਗਏ ਸਹੀ �ਤਰ ਕੋਡ ਦੀ ਚੋਣ ਕਰੋ 
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(A) dsoy 1 vkSj 2 (B) dsoy 1] 3] 4 (A) I ਅਤੇ II ਿਸਰਫ਼ (B) I, III, IV ਿਸਰਫ਼ 

(C) 1] 2] 3 vkSj 4 (D) dsoy 2 vkSj 3 (C) I, II, III ਅਤੇ IV (D) II ਅਤੇ III ਿਸਰਫ਼ 

45) lEiw.kZ f’k{kk dh vo/kkj.kk fdlds }kjk çfrikfnr dh xbZ Fkh%  ਸੰਪੂਰਨ ਿਸੱਿਖਆ ਦੀ ਧਾਰਨਾ ਿਕਸ ਵੱਲ� ਪੇ© ਕੀਤੀ ਗਈ ਸੀ: 

(A) lj vjfcanks (B) egkRek xka/kh (A) ਸਰ ਅਰਿਬੰਦ ੋ (B) ਮਹਾਤਮਾ ਗ�ਧੀ 

(C) Lokeh n;kuan (D) Lokeh foosdkuan (C) ਸਵਾਮੀ ਦਯਾਨੰਦ (D) ਸਵਾਮੀ ਿਵਵੇਕਾਨੰਦ 

46) dydÙkk ifCyd ykbczsjh dh LFkkiuk eq[; :i ls fdldh igy 
ij dh xbZ Fkh% 

 ਕਲਕੱਤਾ ਪਬਿਲਕ ਲਾਇਬ�ੇਰੀ ਦੀ ਸਥਾਪਨਾ ਮੁੱ ਖ ਤੌਰ 'ਤੇ ਦੀ ਪਿਹਲਕਦਮੀ 

'ਤੇ ਕੀਤੀ ਗਈ ਸੀ: 

(A) ds-,e- vlnqYykg (B) y‚MZ dtZu (A) ਕੇ. ਐਮ. ਅਸਦੁੱ ਲਾ (B) ਲਾਰਡ ਕਰਜ਼ਨ 

(C) ,Q-ih- LVªkax (D) ts-,p- LVksdyj (C) ਐਫ. ਪੀ. ਸਟ��ਗ (D) ਜੇ. ਐਚ. ਸਟੋਕੇਲਰ 

47) ‘DELNET’ dk vFkZ gS%  ‘DELNET’ ਦਾ ਅਰਥ ਹੈ 

(A) Delhi Library Network (A) Delhi Library Network 

(B) Developing Library Network (B) Developing Library Network 

(C) Distance Library Network (C) Distance Library Network 

(D) Digital Library Network (D) Digital Library Network 

48) Hkkjrh; iqLrdky; ç.kkyh ds tud ds :i esa fdls tkuk tkrk 
gS\ 

 ਭਾਰਤੀ ਲਾਇਬ�ੇਰੀ ਪ�ਣਾਲੀ ਦੇ ਿਪਤਾ ਵਜ� ਿਕਸਨੰੂ ਜਾਿਣਆ ਜ�ਦਾ ਹੈ? 

(A) M‚- ,l- vkj- jaxukFku  (A) ਡਾ. ਐਸ. ਆਰ. ਰੰਗਨਾਥਨ  

(B) M‚- Vh- vkj- eS;sjs'oju (B) ਡਾ. ਟੀ. ਆਰ. ਮਅੇਰੇ©ਵਰਨ 

(C) M‚- ch-ih- xksLokeh  (C) ਡਾ. ਬੀ. ਪੀ. ਗੋਸਵਾਮੀ  

(D) M‚- ,-ih- iVsy (D) ਡਾ. ਏ. ਪੀ. ਪਟੇਲ 

49) MERUs dk vFkZ gS%  MERUs ਦਾ ਅਰਥ ਹੈ: 

(A) Multidisciplinary Education and Research 
Universities 

(A) Multidisciplinary Education and Research 
Universities 

(B) Multilingual Education and Research Universities (B) Multilingual Education and Research Universities 

(C) Multidisciplinary Education and Research 
Undertaking 

(C) Multidisciplinary Education and Research 
Undertaking 

(D) Multistage Education and Research Universities (D) Multistage Education and Research Universities 

50) ,d vPNs f'k{kd dk lcls egRoiw.kZ xq.k gS%  ਇੱਕ ਚੰਗ ੇਅਿਧਆਪਕ ਦਾ ਸਭ ਤ� ਮਹੱਤਵਪੂਰਨ ਗੁਣ ਹੈ: 

(A) fo"k; oLrq dk vPNk Kku  (A) ਿਵ©ੇ ਦਾ ਚੰਗਾ ਿਗਆਨ  

(B) vPNk lapkj dkS'ky (B) ਚੰਗ ੇਸੰਚਾਰ ਹੁਨਰ  

(C) Nk=ksa ds dY;k.k ds fy, fpark  (C) ਿਵਿਦਆਰਥੀਆਂ ਦੀ ਭਲਾਈ ਲਈ ਿਚੰਤਾ  

(D) çHkkoh usr`Ro xq.k (D) ਪ�ਭਾਵ©ਾਲੀ ਅਗਵਾਈ ਗੁਣ  

51) jk"Vªh; f'k{kk fnol gj lky euk;k tkrk gS%  ਰਾ©ਟਰੀ ਿਸੱਿਖਆ ਿਦਵਸ ਹਰ ਸਾਲ ਨੰੂ ਮਨਾਇਆ ਜ�ਦਾ ਹੈ: 

(A) 2 vDVwcj (B) 11 uoacj (A) 2 ਅਕਤੂਬਰ (B) 11 ਨਵੰਬਰ 

(C) 30 tuojh (D) 31 ekpZ (C) 30 ਜਨਵਰੀ (D) 31 ਮਾਰਚ 

52) Ldwy ifjlj dh vo/kkj.kk dks igyh ckj fØ;kfUor fd;k x;k 
Fkk% 

 ਸਕੂਲ ਕੰਪਲੈਕਸ ਦੀ ਧਾਰਨਾ ਸਭ ਤ� ਪਿਹਲ� ਿਵੱਚ ਲਾਗੂ ਕੀਤੀ ਗਈ ਸੀ: 

(A) mÙkj çns'k (B) iatkc (A) �ਤਰ ਪ�ਦੇ© (B) ਪੰਜਾਬ 

(C) fcgkj (D) jktLFkku (C) ਿਬਹਾਰ (D) ਰਾਜਸਥਾਨ 

53) ^^eu vkSj ân; dh 'kqf)** ds :i esa f'k{kk dh vo/kkj.kk fdlds 
}kjk nh xbZ Fkh% 

 "ਮਨ ਅਤੇ ਿਦਲ ਦੀ ©ੁੱ ਧਤਾ" ਵਜ� ਿਸੱਿਖਆ ਦੀ ਧਾਰਨਾ ਵੱਲ� ਿਦੱਤੀ ਗਈ 

ਸੀ: 

(A) jke—".k (B) lqdjkr (A) ਰਾਮਿਕ�©ਨ (B) ਸੁਕਰਾਤ 

(C) VSxksj (D) xka/kh (C) ਟੈਗੋਰ (D) ਗ�ਧੀ 
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54) i;kZoj.k f'k{kk Ldwyksa esa i<+kbZ tkuh pkfg, D;ksafd%  ਸਕੂਲ� ਿਵੱਚ ਵਾਤਾਵਰਣ ਸੰਬੰਧੀ ਿਸੱਿਖਆ ਿਦੱਤੀ ਜਾਣੀ ਚਾਹੀਦੀ ਹੈ ਿਕ�ਿਕ: 

(A) ;g i;kZoj.k çnw"k.k dks çHkkfor djsxh (A) ਇਹ ਵਾਤਾਵਰਣ ਪ�ਦੂ©ਣ ਨੰੂ ਪ�ਭਾਵਤ ਕਰੇਗਾ  

(B) ;g thou dk egRoiw.kZ fgLlk gS (B) ਇਹ ਿਜ਼ੰਦਗੀ ਦਾ ਮਹੱਤਵਪੂਰਨ ਿਹੱਸਾ 

(C) ;g f'k{kdksa dks jkstxkj çnku djsxk  (C) ਇਹ ਅਿਧਆਪਕ� ਨੰੂ ਨੌਕਰੀ ਪ�ਦਾਨ ਕਰੇਗਾ  

(D) ge i;kZoj.k ls cp ugha ldrs (D) ਅਸ� ਵਾਤਾਵਰਣ ਤ� ਨਹ� ਬਚ ਸਕਦ ੇ

55) f'k{kd ds lkeus vkus okyh Ldwy leL;k dks gy djus ds fy, 
dkSu lh fof/k mi;qä gS\ 

 ਅਿਧਆਪਕ ਵੱਲ� ਦਰਪੇ© ਸਕੂਲ ਸਮੱਿਸਆ ਨੰੂ ਹੱਲ ਕਰਨ ਲਈ ਿਕਹੜਾ 

ਤਰੀਕਾ ਢੁਕਵ� ਹੈ? 

(A) fØ;kRed 'kks/k (B) losZ{k.k fof/k (A) ਕਾਰਜ©ੀਲ ਖੋਜ (B) ਸਰਵੇਖਣ ਿਵਧੀ 

(C) ,sfrgkfld fof/k (D) o.kZukRed fof/k (C) ਇਿਤਹਾਸਕ ਿਵਧੀ (D) ਵਰਣਨਾਤਮਕ ਿਵਧੀ 

56) viuh d{kk esa xSj&lkekftd cPpksa dh igpku djus ds fy,] 
vki ,d f'k{kd ds :i esa fuEufyf[kr dk ç;ksx djsaxs% 

 ਆਪਣੀ ਕਲਾਸ ਿਵੱਚ ਗੈਰ-ਸਮਾਿਜਕ ਬੱਿਚਆ ਂ ਦੀ ਪਛਾਣ ਕਰਨ ਲਈ, ਤੁਸ� ਇੱਕ 

ਅਿਧਆਪਕ ਵਜ� ਅਰਜ਼ੀ ਦੇਵੋਗੇ: 

(A) ;ksX;rk ijh{k.k  (A) ਯੋਗਤਾ ਪਰੀਖਣ 

(B) lkekftd&ehfVªd ijh{k.k (B) ਸਮਾਿਜਕ-ਮੈਿਟ�ਕ ਪਰੀਖਣ 

(C) ih-D;w- ijh{k.k  (C) ਪੀ. ਿਕਊ. ਪਰੀਖਣ 

(D) miyfC/k ijh{k.k (D) ਪ�ਾਪਤੀ ਪਰੀਖਣ 

57) fuEufyf[kr esa ls dkSu lh f'k{k.k dh loksZÙke fof/k gS\  ਇਹਨ� ਿਵੱਚ� ਿਕਹੜਾ ਿਸੱਿਖਆ ਦੇਣ ਦਾ ਸਭ ਤ� ਵਧੀਆ ਤਰੀਕਾ ਹੈ? 

(A) O;k[;ku fof/k (B) ppkZ fof/k (A) ਲੈਕਚਰ ਿਵਧੀ (B) ਚਰਚਾ ਿਵਧੀ 

(C) çn'kZu fof/k (D) ç'u&mÙkj fof/k (C) ਪ�ਦਰ©ਨ ਿਵਧੀ (D) ਪ�©ਨ-�ਤਰ ਿਵਧੀ 

58) tc i<+kus ds fy, fo"ke lewg gks] rks f'k{kd dks fuEufyf[kr dk 
ikyu djuk pkfg,% 

 ਜਦ� ਪੜ�ਾਉਣ ਲਈ ਇੱਕ ਿਵਿਭੰਨ ਸਮੂਹ ਨੰੂ ਰੱਿਖਆ ਜ�ਦਾ ਹੈ, ਤ� 

ਅਿਧਆਪਕ ਨੰੂ ਪਾਲਣਾ ਕਰਨੀ ਚਾਹੀਦੀ ਹੈ: 

(A) O;k[;ku fof/k  (A) ਲੈਕਚਰ ਿਵਧੀ  

(B) çn'kZu fof/k (B) ਪ�ਦਰ©ਨ ਿਵਧੀ 

(C) ifj;kstuk fof/k  (C) ਪ�ੋਜੈਕਟ ਿਵਧੀ  

(D) O;k[;ku lg çn'kZu fof/k (D) ਲੈਕਚਰ ਸਿਹ ਪ�ਦਰ©ਨ ਿਵਧੀ 

59) ^ekbaM] lsYQ ,aM lkslkbVh* iqLrd fdlus fy[kh gS\  'ਮਾਈਡਂ, ਸੈਲਫ ਐਡਂ ਸੋਸਾਇਟੀ' ਿਕਤਾਬ ਿਕਸਨĂ  ਿਲਖੀ? 

(A) t‚tZ gcZVZ ehM  (A) ਜਾਰਜ ਹਰਬਰਟ ਮੀਡ  

(B) t‚tZ dSLij gkseUl (B) ਜਾਰਜ ਕੈਸਪਰ ਹੋਮੈਨਸ 

(C) ,aFkuh fxMsal  (C) ਐਥਂਨੀ ਿਗਡ�ਸ  

(D) ,aVksfu;ks ÝkalsLdks xzkELdh (D) ਐਟਂਾਨੀਓ ਫ��ਿਸਸਕੋ ਗ�ਾਮਸੀ 

60) 'kkafrfudsru ds laLFkkid dkSu Fks\  ©�ਤੀਿਨਕੇਤਨ ਦਾ ਸੰਸਥਾਪਕ ਕੌਣ ਸੀ? 

(A) jchaæukFk VSxksj (B) ekuosaæ ukFk jko (A) ਰਾਿਬੰਦਰਨਾਥ ਟੈਗੋਰ (B) ਮਾਨਬ�ਦਰ ਨਾਥ ਰਾਓ 

(C) jktk jke eksgu jko (D) nsosUæukFk VSxksj (C) ਰਾਜਾ ਰਾਮ ਮੋਹਨ ਰਾਓ (D) ਦੇਬ�ਦਰਨਾਥ ਟੈਗੋਰ 

Hkkx&lh% lkekU; ekufld {kerk@;ksX;rk ijh{k.k  Gkr-;hL nkw wkBf;e :'rsk 

61) fuEufyf[kr J`a[kyk esa fjä LFkku ds LFkku ij la[;k D;k gksuh 
pkfg,\  11] 13] 17] 19] 23] -------] 31 

 ਹੇਠ ਿਲਖੀ ਲੜੀ ਿਵੱਚ ਖਾਲੀ ਥ� ਦੀ ਥ� 'ਤੇ ਸੰਿਖਆ ਕੀ ਹੋਣੀ ਚਾਹੀਦੀ ਹੈ? 

11, 13, 17, 19, 23, __, 31 

(A) 25 (B) 27 (A) 25 (B) 27 

(C) 29 (D) 30 (C) 29 (D) 30 

62) fuEufyf[kr J`a[kyk esa fjä LFkku ds LFkku ij la[;k D;k gksuh 
pkfg,\  121] 144] 169] -------] 225] 256 

 ਹੇਠ ਿਲਖੀ ਲੜੀ ਿਵੱਚ ਖਾਲੀ ਥ� ਦੀ ਥ� 'ਤੇ ਸੰਿਖਆ ਕੀ ਹੋਣੀ ਚਾਹੀਦੀ 

ਹੈ? 121, 144, 169, ___, 225, 256 

(A) 180 (B) 200 (A) 180 (B) 200 

(C) 194 (D) 196 (C) 194 (D) 196 
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63) fuEufyf[kr J`a[kyk esa fjä LFkku ds LFkku ij la[;k D;k gksuh 
pkfg,\ ----------] 154] 147] 136] 123] 106 

 ਹੇਠ ਿਲਖੀ ਲੜੀ ਿਵੱਚ ਖਾਲੀ ਥ� 'ਤੇ ਸੰਿਖਆ ਕੀ ਹੋਣੀ ਚਾਹੀਦੀ ਹੈ? 
___, 154, 147, 136, 123, 106 

(A) 158 (B) 161 (A) 158 (B) 161 

(C) 159 (D) 157 (C) 159 (D) 157 

64) fuEufyf[kr fodYiksa esa ls fHkUu la[;k pqusa%  ਹੇਠ ਿਲਖੇ ਿਵਕਲਪ� ਿਵੱਚ� ਵੱਖਰਾ ਨੰਬਰ ਚੁਣੋ: 

(A) 729 (B) 512 (A) 729 (B) 512 

(C) 1331 (D) 1724 (C) 1331 (D) 1724 

65) fo"ke fodYi dk p;u dhft,%  ਿਵ©ਮ ਿਵਕਲਪ ਚੁਣੋ: 

(A) EKO (B) JIU (A) EKO (B) JIU 

(C) KVG (D) QMJ (C) KVG (D) QMJ 

66) fuEufyf[kr fodYiksa esa ls fo"ke fodYi dk p;u dhft,%  ਹੇਠ ਿਲਖੇ ਿਵਕਲਪ� ਿਵੱਚ� ਿਵ©ਮ ਿਵਕਲਪ ਚੁਣੋ: 

(A) baQky (B) bankSj (A) ਇੰਫਾਲ (B) ਇੰਦੌਰ 

(C) bZVkuxj (D) vkbtksy (C) ਈਟਾਨਗਰ (D) ਆਈਜ਼ੌਲ 

67) lgh fodYi [kkstsa% 
Hkkjr % ubZ fnYyh %% csfYt;e  %   \ 

 ਸਹੀ ਿਵਕਲਪ ਲੱਭੋ: 

ਭਾਰਤ: ਨਵ� ਿਦੱਲੀ :: ਬੈਲਜੀਅਮ : ? 

(A) ,aVoiZ (B) CkzqXl (A) ਐਟਂਵਰਪ (B) ਬਰੂਗਸ 

(C) CkzqlsYl (D) cqMkisLV (C) ਬ�ਸੇਲਜ਼ (D) ਬੁਡਾਪੇਸਟ 

68) lgh fodYi [kkstsa% 
ikS/kk % isM+ %% ?kj % \ 

 ਸਹੀ ਿਵਕਲਪ ਲੱਭੋ: 

ਪੌਦਾ: ਰੱੁਖ :: ਘਰ : ? 

(A) daØhV (B) fuokl (A) ਕੰਕਰੀਟ (B) ਿਰਹਾਇ© 

(C) ?kj (D) Hkou (C) ਘਰ (D) ਇਮਾਰਤ 

69) lgh fodYi [kkstsa% 
ACE : DFH :: IKM : ? 

 ਸਹੀ ਿਵਕਲਪ ਲੱਭੋ:  
ACE : DFH :: IKM : ? 

(A) LNQ (B) LOP (A) LNQ (B) LOP 

(C) KNP (D) LNP (C) KNP (D) LNP 

70) ‘distant’ 'kCn dk lcls mi;qä i;kZ;okph 'kCn pqusa%  ‘distant’ ©ਬਦ ਦਾ ਸਭ ਤ� ਢੁਕਵ� ਸਮਾਨਾਰਥੀ ਚੁਣੋ: 

(A) Futuristic (B) Faraway (A) Futuristic (B) Faraway 

(C) Farsighted (D) Forward (C) Farsighted (D) Forward 

71) ‘hospitality’ 'kCn dk lcls mi;qä foykse 'kCn pqusa%  ‘hospitality’ ©ਬਦ ਦਾ ਸਭ ਤ� ਢੁਕਵ� ਿਵਰੋਧੀ ©ਬਦ ਚੁਣੋ: 

(A) Coldness (B) Cordiality (A) Coldness (B) Cordiality 

(C) Wrathful (D) Complaint (C) Wrathful (D) Complaint 

72) ‘inherent’ 'kCn dk lcls mi;qä i;kZ;okph 'kCn pqusa%  ‘inherent’ ©ਬਦ ਦਾ ਸਭ ਤ� ਢੁਕਵ� ਸਮਾਨਾਰਥੀ ©ਬਦ ਚੁਣੋ: 

(A) Difference (B) Latent (A) Difference (B) Latent 

(C) Auxiliary (D) Secondary (C) Auxiliary (D) Secondary 

73) fdlh fuf'pr dksM Hkk"kk esa ^LEMON* dks ^ELMNO* ds :i 
esa dksfMr fd;k tkrk gS] rks ml Hkk"kk esa ^DELHI* dks dSls 
fy[kk tk,xk\ 

 ਇੱਕ ਖਾਸ ਕੋਡ ਭਾ©ਾ 'LEMON' ਨੰੂ 'ELMNO' ਵਜ� ਕੋਡ ਕੀਤਾ 

ਿਗਆ ਹੈ, ਉਸ ਭਾ©ਾ ਿਵੱਚ 'DELHI' ਿਕਵ� ਿਲਿਖਆ ਜਾਵੇਗਾ? 

(A) DEHLI (B) ELDIH (A) DEHLI (B) ELDIH 

(C) DEHIL (D) LIHED (C) DEHIL (D) LIHED 

74) fdlh fuf'pr dksM Hkk"kk esa ^DEF* dks ^225* ds :i esa 
dksfMr fd;k tkrk gS] rks ml Hkk"kk esa ^IJK* dks dSls fy[kk 
tk,xk\ 

 ਇੱਕ ਖਾਸ ਕੋਡ ਭਾ©ਾ ਿਵੱਚ 'DEF' ਨੰੂ '225' ਵਜ� ਕੋਡ ਕੀਤਾ ਿਗਆ 

ਹੈ, ਉਸ ਭਾ©ਾ ਿਵੱਚ 'IJK' ਿਕਵ� ਿਲਿਖਆ ਜਾਵੇਗਾ? 
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(A) 961 (B) 841 (A) 961 (B) 841 

(C) 300 (D) 900 (C) 300 (D) 900 

75) ,d fuf'pr dksM esa “FANTA” dks “LGTZG” fy[kk tkrk 
gSA mlh dksM esa “CRICKET” dks dSls fy[kk tk,xk\ 

 ਇੱਕ ਖਾਸ ਕੋਡ ਿਵੱਚ "FANTA" ਨੰੂ "LGTZG" ਿਲਿਖਆ ਜ�ਦਾ ਹੈ। 

ਉਸ ਕੋਡ ਿਵੱਚ "CRICKET" ਿਕਵ� ਿਲਿਖਆ ਜ�ਦਾ ਹੈ? 

(A) IXOIQKZ (B) IXOIPKZ (A) IXOIQKZ (B) IXOIPKZ 

(C) JXOIQKZ (D) IXOIQKY (C) JXOIQKZ (D) IXOIQKY 

76) A] C dk iq= gS tcfd C vkSj Q ,d nwljs dh cgusa gSaA Z] 
Q dh ekrk gSA ;fn P] Z dk iq= gS] rks fuEufyf[kr esa ls dkSu 
lk dFku lgh gS\ 

 A, C ਦਾ ਪੱੁਤਰ ਹੈ ਜਦ� ਿਕ C ਅਤ ੇQ ਇੱਕ ਦੂਜੇ ਦੀਆਂ ਭੈਣ� ਹਨ।  Z, Q ਦੀ ਮ� ਹੈ। 

ਜੇਕਰ P, Z ਦਾ ਪੱੁਤਰ ਹੈ, ਤ� ਇਹਨ� ਿਵੱਚ� ਿਕਹੜਾ ਕਥਨ ਸਹੀ ਹੈ? 

(A) Q] A dk nknk gS  (A) Q, A ਦਾ ਦਾਦਾ ਹੈ  

(B) P] A dk ppsjk HkkbZ gS  (B) P, A ਦਾ ਚਚੇਰਾ ਭਰਾ ਹੈ 

(C) Z] C dk HkkbZ gS  (C) Z, C ਦਾ ਭਰਾ ਹੈ  

(D) P] A dk ekek gS  (D) P, A ਦਾ ਮਾਮਾ ਹੈ 

77) ,d efgyk dk ifjp; nsrs gq, ,d iq#"k us dgk] ^^mldh ek¡ esjh 
lkl dh bdykSrh csVh gSA** og iq#"k efgyk dk D;k yxrk gS\ 

 ਇੱਕ ਔਰਤ ਦੀ ਜਾਣ-ਪਛਾਣ ਕਰਵਾ�ਦੇ ਹੋਏ, ਇੱਕ ਆਦਮੀ ਨĂ  ਿਕਹਾ, 

"ਉਸਦੀ ਮ� ਮੇਰੀ ਸੱਸ ਦੀ ਇਕਲੌਤੀ ਧੀ ਹੈ।" ਔਰਤ ਲਈ ਆਦਮੀ ਕੀ ਹੈ? 

(A) firk (B) iq= (A) ਿਪਤਾ (B) ਪੱੁਤਰ 

(C) ifr (D) HkkbZ (C) ਪਤੀ (D) ਭਰਾ 

78) ,d yM+ds dh rLohj dh vksj b'kkjk djrs gq, t‚; us dgk] 
^^og esjh ek¡ ds bdykSrs csVs dk csVk gSA** t‚; dk ml yM+ds ls 
D;k laca/k gS\ 

 ਇੱਕ ਮੁੰ ਡ ੇਦੀ ਫੋਟ ੋਵੱਲ ਇ©ਾਰਾ ਕਰਿਦਆ ਹੋਏ ਜੋਏ ਨĂ  ਿਕਹਾ, "ਉਹ ਮੇਰੀ 

ਮ� ਦੇ ਇਕਲੌਤ ੇਪੱੁਤਰ ਦਾ ਪੱੁਤਰ ਹੈ।" ਜੋਏ ਦਾ ਉਸ ਮੁੰ ਡ ੇਨਾਲ ਕੀ ਸੰਬੰਧ 

ਹੈ? 

(A) pkpk (B) firk (A) ਚਾਚਾ (B) ਿਪਤਾ 

(C) HkkbZ (D) fe= (C) ਭਰਾ (D) ਦੋਸਤ 

79) dFku%   dksbZ Hkh iq#"k f'k{kd [ksy ugha ldrkA  
       dqN iq#"k f'k{kd ,FkyhV gSaA  
fu"d"kZ%     
1- efgyk ,FkyhV [ksy ldrh gSaA  
2- dqN ,FkyhV [ksy ldrs gSaA 

 ਿਬਆਨ:  ਕੋਈ ਵੀ ਮਰਦ ਅਿਧਆਪਕ ਖੇਡ ਨਹ� ਸਕਦਾ।  

       ਕੁਝ ਮਰਦ ਅਿਧਆਪਕ ਐਥਲੀਟ ਹਨ। 

ਨਤੀਜੇ: 

I. ਔਰਤ ਐਥਲੀਟ ਖੇਡ ਸਕਦੇ ਹਨ। 

II. ਕੁਝ ਐਥਲੀਟ ਖੇਡ ਸਕਦੇ ਹਨ। 

(A) dsoy fu"d"kZ 1 vuqlj.k djrk gS  (A) ਿਸਰਫ਼ ਿਸੱਟਾ I ਪਾਲਣਾ ਕਰਦਾ ਹ�  

(B) dsoy fu"d"kZ 2 vuqlj.k djrk gS (B) ਿਸਰਫ਼ ਿਸੱਟਾ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

(C) u rks 1 vkSj u gh 2 vuqlj.k djrk gS  (C) ਨਾ ਤ� I ਅਤ ੇਨਾ ਹੀ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ  

(D) ;k rks 1 ;k 2 vuqlj.k djrk gS (D) ਜ� ਤ� I ਜ� II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

80) dFku%   lHkh cSx dsd gSaA lHkh ySai dsd gSaA 
fu"d"kZ%  

1- dqN ySai cSx gSaA    
2- dksbZ ySai cSx ugha gSA 

 ਿਬਆਨ:   ਸਾਰੇ ਬੈਗ ਕੇਕ ਹਨ। ਸਾਰੇ ਲ�ਪ ਕੇਕ ਹਨ। 

ਨਤੀਜੇ: 

I. ਕੁਝ ਲ�ਪ ਬੈਗ ਹਨ। 

II. ਕੋਈ ਲ�ਪ ਬੈਗ ਨਹ� ਹੈ। 

(A) dsoy fu"d"kZ 1 vuqlj.k djrk gS  (A) ਿਸਰਫ਼ ਿਸੱਟਾ I ਪਾਲਣਾ ਕਰਦਾ ਹੈ  

(B) dsoy fu"d"kZ 2 vuqlj.k djrk gS (B) ਿਸਰਫ਼ ਿਸੱਟਾ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

(C) u rks 1 vkSj u gh 2 vuqlj.k djrk gS  (C) ਨਾ ਤ� I ਅਤ ੇਨਾ ਹੀ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ  

(D) ;k rks 1 ;k 2 vuqlj.k djrk gS (D) ਜ� ਤ� I ਜ� II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

 



{J-B.Ed.PB-25-A} 

(25) 

 

81) dFku%   lHkh lM+dsa ikuh gSaA dqN ikuh ukosa gSaA 
 
fu"d"kZ%  1- dqN ukosa lM+dsa gSaA   
        2- lHkh ikuh ukosa gSaA 

 ਿਬਆਨ:  ਸਾਰੀਆਂ ਸੜਕ� ਪਾਣੀ ਹਨ। ਕੁਝ ਪਾਣੀ ਿਕ©ਤੀਆਂ ਹਨ। 

ਨਤੀਜੇ: 

I. ਕੁਝ ਿਕ©ਤੀਆਂ ਸੜਕ� ਹਨ। 

II. ਸਾਰੇ ਪਾਣੀ ਿਕ©ਤੀਆਂ ਹਨ। 

(A) dsoy fu"d"kZ 1 vuqlj.k djrk gS  (A) ਿਸਰਫ਼ ਿਸੱਟਾ I ਪਾਲਣਾ ਕਰਦਾ ਹੈ  

(B) dsoy fu"d"kZ 2 vuqlj.k djrk gS (B) ਿਸਰਫ਼ ਿਸੱਟਾ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

(C) u rks 1 vkSj u gh 2 vuqlj.k djrk gS  (C) ਿਸਰਫ਼ I ਅਤੇ ਨਾ ਹੀ II ਪਾਲਣਾ ਕਰਦਾ ਹੈ  

(D) ;k rks 1 ;k 2 vuqlj.k djrk gS (D) ਜ� ਤ� I ਜ� II ਪਾਲਣਾ ਕਰਦਾ ਹੈ 

82) d{kk A esa d{kk B ls vf/kd ukekadu gSA 
d{kk C esa d{kk B ls de ukekadu gSA 
d{kk A esa d{kk C ls de ukekadu gSA 
;fn igys nks dFku lR; gSa] rks rhljk dFku gS 

 ਕਲਾਸ A ਿਵੱਚ ਕਲਾਸ B ਨਾਲ� ਵੱਧ ਦਾਖਲਾ ਹੈ। 

ਕਲਾਸ C ਿਵੱਚ ਕਲਾਸ B ਨਾਲ� ਘੱਟ ਦਾਖਲਾ ਹੈ। 

ਕਲਾਸ A ਿਵੱਚ ਕਲਾਸ C ਨਾਲ� ਘੱਟ ਦਾਖਲਾ ਹੈ। 

ਜੇਕਰ ਪਿਹਲੇ ਦੋ ਕਥਨ ਸੱਚ ਹਨ, ਤ� ਤੀਜਾ ਕਥਨ ਹੈ 

(A) lR; (B) vlR; (A) ਸੱਚ (B) ਗਲਤ 

(C) vfuf'pr (D) u lR; u gh vlR; (C) ਅਿਨ©ਿਚਤ (D) ਨਾ ਸੱਚ ਅਤ ੇਨਾ ਗਲਤ 

83) ,d J`a[kyk nh xbZ gS ftlesa ,d in yqIr gSA fn, x, fodYiksa 
esa ls og lgh fodYi pqfu, tks J`a[kyk dks iwjk djsxkA 
PRS, TWY, XBE, BGK, ? 

 ਇੱਕ ਲੜੀ ਿਦੱਤੀ ਗਈ ਹੈ ਿਜਸ ਿਵੱਚ ਇੱਕ ©ਬਦ ਗੁੰ ਮ ਹੈ। ਿਦੱਤੇ ਗਏ 

©ਬਦ� ਿਵੱਚ� ਸਹੀ ਿਵਕਲਪ ਚੁਣੋ ਜੋ ਲੜੀ ਨੰੂ ਪੂਰਾ ਕਰੇਗਾ। 

PRS, TWY, XBE, BGK, ? 

(A) FLQ (B) FLP (A) FLQ (B) FLP 

(C) FMQ (D) ELQ (C) FMQ (D) ELQ 

84) fuEufyf[kr pkj 'kCnksa esa ls rhu ,d fuf'pr rjhds ls leku gSa 
vkSj ,d vyx gSA cstksM+ dk p;u djsaA 

 ਹੇਠ� ਿਦੱਤ ੇਚਾਰ ©ਬਦ� ਿਵੱਚ� ਿਤੰਨ ਇੱਕ ਖਾਸ ਤਰੀਕੇ ਨਾਲ ਇੱਕੋ ਿਜਹੇ ਹਨ 

ਅਤੇ ਇੱਕ ਵੱਖਰਾ ਹੈ। ਅਜੀਬ ©ਬਦ ਚੁਣੋ। 

 (A) Goggles (B) Spectacles  (A) Goggles (B) Spectacles 

(C) Bifocals (D) Optical Reader (C) Bifocals (D) Optical Reader 

85) fuEufyf[kr ç'u esa] fn, x, fodYiksa esa ls lacaf/kr 'kCn ;qXe 
dk p;u dhft,%& 
{k; jksx % QsQM+s %% VkbQkbM % \ 

 ਹੇਠ� ਿਦੱਤ ੇਪ�©ਨ ਿਵੱਚ, ਿਦੱਤ ੇਗਏ ਿਵਕਲਪ� ਿਵੱਚ� ਸੰਬੰਿਧਤ ©ਬਦ ਜੋੜਾ 

ਚੁਣੋ: 

ਟੀ.ਬੀ. : ਫੇਫੜੇ :: ਟਾਈਫਾਈਡ : ? 

(A) ;—r (B) QsQM+s (A) ਿਜਗਰ (B) ਫੇਫੜੇ 

(C) vkar (D) dku (C) ਅੰਤੜੀਆ ਂ (D) ਕੰਨ 

86) ,d nqdkunkj ₹200 esa ,d f[kykSuk [kjhnrk gS vkSj mls ₹250 
esa csprk gSA mldk ykHk çfr'kr D;k gS\ 

 ਇੱਕ ਦੁਕਾਨਦਾਰ ₹200 ਿਵੱਚ ਇੱਕ ਿਖਡੌਣਾ ਖਰੀਦਦਾ ਹੈ ਅਤ ੇ ਇਸਨੰੂ 

₹250 ਿਵੱਚ ਵੇਚਦਾ ਹੈ। ਉਸਦਾ ਮੁਨਾਫ਼ਾ ਪ�ਤੀ©ਤ ਕੀ ਹੈ? 

(A) 50 çfr'kr (B) 33-3 çfr'kr (A) 50% (B) 33.3% 

(C) 25 çfr'kr (D) 20 çfr'kr (C) 25% (D) 20% 

87) ₹1]000 ij 2 o"kksaZ ds fy, 5 çfr'kr çfr o"kZ dh nj ls 
lk/kkj.k C;kt D;k gS\ 

 ₹1,000 'ਤੇ 2 ਸਾਲ� ਲਈ 5% ਸਾਲਾਨਾ ਦੀ ਦਰ ਨਾਲ ਸਧਾਰਨ ਿਵਆਜ 

ਿਕੰਨਾ ਹੈ? 

(A) 50 (B) 100 (A) 50 (B) 100 

(C) 150 (D) 75 (C) 150 (D) 75 

88) okf"kZd :i ls la;ksftr] 10 çfr'kr çfr o"kZ dh nj ls 2 o"kksaZ 
ds fy, ₹1]000 ij pØòf) C;kt D;k gksxk\ 

 ਸਾਲਾਨਾ ਿਮ©ਿਰਤ ₹1,000 'ਤੇ 2 ਸਾਲ� ਲਈ 10% ਸਾਲਾਨਾ ਦੀ ਦਰ ਨਾਲ 

ਿਮ©ਿਰਤ ਿਵਆਜ ਿਕੰਨਾ ਹੋਵੇਗਾ? 

(A) 200 (B) 210 (A) 200 (B) 210 

(C) 220 (D) 195 (C) 220 (D) 195 
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89) 100 Nk=ksa ds ,d losZ{k.k esa( 60 dks xf.kr ilan gS] 50 dks 
foKku ilan gS] 40 dks vaxzsth ilan gS] 20 dks xf.kr vkSj 
foKku nksuksa ilan gSa] 15 dks xf.kr vkSj vaxzsth nksuksa ilan gSa] 
10 dks foKku vkSj vaxzsth nksuksa ilan gSa] 5 dks rhuksa fo"k; ilan 
gSaA fdrus Nk=ksa dks dsoy xf.kr ilan gS\ 

 100 ਿਵਿਦਆਰਥੀਆਂ ਦੇ ਇੱਕ ਸਰਵੇਖਣ ਿਵੱਚ: 60 ਿਵਿਦਆਰਥੀਆਂ ਨੰੂ 

ਗਿਣਤ ਪਸੰਦ ਹੈ, 50 ਨੰੂ ਿਵਿਗਆਨ ਪਸੰਦ ਹੈ, 40 ਨੰੂ ਅੰਗਰੇਜ਼ੀ ਪਸੰਦ 

ਹੈ, 20 ਨੰੂ ਗਿਣਤ ਅਤੇ ਿਵਿਗਆਨ ਦਵੋ�, 15 ਨੰੂ ਗਿਣਤ ਅਤੇ ਅੰਗਰੇਜ਼ੀ 

ਦੋਵ�, 10 ਨੰੂ ਦੋਵ� ਿਵਿਗਆਨ ਅਤ ੇਅੰਗਰੇਜ਼ੀ, 5 ਨੰੂ ਿਤੰਨć  ਿਵ©ੇ ਪਸੰਦ ਹਨ। 

ਿਕੰਨĂ  ਿਵਿਦਆਰਥੀ ਿਸਰਫ਼ ਗਿਣਤ ਪਸੰਦ ਕਰਦੇ ਹਨ?  

(A) 30 (B) 25 (A) 30 (B) 25 

(C) 32 (D) 35 (C) 32 (D) 35 

90) fuEu rkfydk esa 2023 ls 2024 rd fdl xfrfof/k esa 
Hkkxhnkjh esa lcls vf/kd çfr'kr òf) ns[kh xbZ\ 

 ਹੇਠ ਿਦੱਤੀ ਸਾਰਣੀ ਿਵੱਚ 2023 ਤ� 2024 ਤੱਕ ਿਕਸ ਗਤੀਿਵਧੀ ਿਵੱਚ 

ਭਾਗੀਦਾਰੀ ਿਵੱਚ ਸਭ ਤ� ਵੱਧ ਪ�ਤੀ©ਤ ਵਾਧਾ ਹੋਇਆ ਹੈ? 

  xfrfof/k@ਗਤੀਿਵਧੀ 2023 2024  

 okn&fookn@ਬਿਹਸ 40 50  

 [ksy@ਖੇਡ 60 75  

 laxhr@ਸੰਗੀਤ 30 45  

 dyk@ਕਲਾ 20 30  

 ukVd@ਨਾਟਕ 50 60  

 (A) ukVd (B) [ksy  (A) ਨਾਟਕ (B) ਖੇਡ 

(C) okn&fookn (D) laxhr (C) ਬਿਹਸ (D) ਸੰਗੀਤ 

-*-*-*- 
[ROUGH WORK] 
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